EEFRER, WENEFLTRE _
PAE: www.dohrecnc.com BR%&: dohre@dohrecnc.com




st

IR RS e mee e e o S R RS

il 1

.‘

IS IEET IR Iy Hr--Hhmmnu“lilrnfu1uuuuunnlnniulnhiuuu.'.nuin‘n:u.n“L-u Ty

s S —

. " SO L by FT oy
B Ll

logy supports.

DOHRE Tool Co.,Ltd always advocates "integrity, pragmatism, innovation,
effeciency"” operation principle, introduced the latest German cnc 5 axis grinding
machines, cnc 5 axis automatic detection equipments and advanced grinding tec-
hnology. Till now, we have 20 imported grinding machines,adopted the top quality
carbide rods from home and abroad, thus developed high-class. high efficiency,
advanced manufacturing system,the good quality products we produced-cnc tung-
sten carbide end mills, forming cutting tools, cnc high accuracy tool holder, high

precision collets,and full range cutting tools design program has been well received
in lots of users. DOHRE will be condident to meet your needs with good quality pr-

oducts, competetive prices and fast services.

EREIETERRAE
& Tl B BB LR (E)

RARSZHF,

BRERTEERAT—HESHE. SX. 8F. BRENLEES , S HEER%:
AWERE , CNCIERERMEEDRA , ATNE
R, B SEHEFEIE RS
NCEBETIR. BEE
CERMBENTR , &

HOER20E , RAE

=

IERIMRILEREY |, NIRRT
FREFIBMERCNCIBIRG ), BWALK, JFFrLK. KA
SNSRI RS ERE

HECNCRHERIRSFMCNCHIRE

T L1 pa

BEMESSAENRIZITAE 1

SRENMISHSRR:

— b

|

B0IRS [ REL =L M E SRR

e

HARYYIEI TR 25 {ZA9

DOHRE Tool Co.,Ltd is professional manufacturer and services provider of
CNC cutting tools, mainly service for the users of cnc machines from different cities

in the world, provide high quality, favourable price, earlier delivery andfull techno-

ECNCHIHITD BV HISHERNRARSE  TEERSHRA

il |, IRHEmk , SIENEE , BRI

S

gz A %= 51 Milling tool holder series

08~52

e

$hEIX FkiEE Z %1 Tapping tool holder series

53~69

Ve

J1E. %% Boring tool series

70~98







OO HRE

PRECISON MILLING HOLDER #tf|3iF 8

O HRE

PRECISON MILLING HOLDER #td3zi%E

BT-SK HIGH SPEED TOOL HOLDER
BT-SK =& 7] maes-

[ i
H- ] '_?h'ﬁ) IC
S % ®
DT | L1 5
- ‘\ e N 7 @ N
_——_
l
VA,

L. BEE, BASEEE 25983 40000MIN™

\

B 5% S $FEi[E] R = Size R o NS 8 Sk
Specification Clamping range L |1 C G NO MAX . min—1 Collet
-SK6-60 60 38 . .
_aKA—90 -6 0 90 58 19.5 SK6 40,000 SK6
~-SK10-60 v 60 38
~SK10-90 2~10.0 90 68 27 SK10 40,000 SK10
—-SK16-60 _ 60 38 _
_SK16-90 3~16.0 0 =5 40 SK16 30,000 SK16
B 3~20.0 o o 48 SK20 30,000 SK20
-SK6-60 60 33
—-SK6-90 2~6.0 90 63 19.5 SK6 30,000 SK6
-SK6-120 120 93
-SK10-60 60 33
-SK10-90 2~10.0 90 63 27 SK10 30,000 SK10
-SK10—120 120 93
-SK16-60 60 33
~-SK16-90 3~16.0 90 63 40 SK16 25,000 SK16
oK 16—120 120 93
- —SK20-90 3~20 90 63 48 SK20 20,000 SK20
BN T3K10-150 150 | 123
B 3-10.0 L = 27 SK10 20,000 SK10
—SK10-250 230 223
e 2| 3
—SK16-200 3~16.0 200 | 173 40 SK16 20,000 SK16
~ =SK16-250 | 250 Z20
1, AFHEBRRFNEERSEE
2. AMEHRT
SPANNER HitsH SPEEDYNUT
—Rh =
SK 2R SK & iEHRNE
= 5 =t RIS o
Pattern | Specification weight(KG) Pattern Specification
SK6-SP 19.5 0.2 SK6—-CN 19.5
bR B ~ SK10-SP 27 0.27 N SK10-CN 27
| SK16—-SP 40 0.39 SK16-CN 40
SK20-SP 48 0.45 SK20-CN 48

B Foature |

. ERETE, NWEES. BA S EES P E0.003mm, &5 #5EG2.540000pm, 2. REMEEHV22009iBENEE, L2185, BES,
= HEEER, MAKBREBYIAIARS, ERERSHER.
Pre-balanced, high precision run-out 0.003mm, suitable for high rotating , maximum G2.5 40000 rpm.
Surface hardness up to HV 220 by rotating, no damage and noise.
Covering interface with precision vibration and high metal removal, increased tool life.
High concentricity, stable run-out accuracy to enhance fine machining surface roughness.

B WN = W=

O®)|PAGE 11

4. EOES, RENERIRFEE, BEBMIRERE,

G2.5

30000RPM

e
f\_j]f} -
=t

o In[c
1 4 LT -
4 i3 @ ™
BT-GER HIGH SPEED ER COLLET CHUCK
| U BT-GER 5% 7]fA
AU i KIFEE o 1) 15 2 SE B2
Specification Clamping range | | 1 I ®C M Min™ I Collet Nut
-GER16-70 3.0~10.0 70 48 27 M22X1.0 30000 ER16 GER16
-GER16-100 3.0~10.0 100 | 78 27 M22X1.0 30000 ER16 | GER16
-GER20-70 3.0~120 70 48 30 M25X1.0 30000 ER20 GERZ20
—GER20-100 3.0~120 100 78 30 M25X1.0 30000 ER20 GER20
-GER25-70 3.0~16.0 70 48 35 M30X1.0 30000 ER25 GER25
-GER25-100 3.0~16.0 100 | 78 35 | M30X1.0 30000 ER25 | GER25
-GER32-100 3.0~20.0 _ 100 | 78 50 M45X1.0 25000 ER32 | GER32
-GER16-70 3.0~10.0 70 43 27 M22X1.0 25000 ER16 GER16
-GER16-100 A0~10.0 100 73 2f M22X1.0 25000 ER16 GER16
-GER20-70 3.0~12.0 70 43 30 M25X1.0 25000 ER20 GER20
—GER20-100 3.0~120 | 100 i3 30 | M25X1.0 [ 25000 ER20 | GER20
-GER25-70 3.0~16.0 70 43 35 M30X1.0 25000 ER25 GER25
-GER25-100 3.0~16.0 100 73 35 M30X1.0 25000 ER25 GER25
-GER25-150 3.0~=16.0 150 123 35 M30X1.0 25000 ER25 | GER25
-GER32-70 3.0~20.0 70 43 50 M45X1.0 20000 ER32 GER32
-GER32-100 3.0~20.0 100 3 50 M45X1.0 20000 ER32 GER32
—GER32-150 | 3.0-20.0 150 123 50 | M45X1.0 | 20000 ER32 GER32

1=K, BPE/N,

i
2
3. HiEEBEEN, EERREES.
i

4Bt/ Feature

TREREFE, NIWMBES, SERMESHEIIA

n OSSR A J14A, BEEH0.003mm, B 5 %G 2.5 30000rpm.

Pre-balanced, high precision run-out 0.003mm, applied for high speed engraving&milling and drilling machining center ,
maximum G2.5 30000 rpm.

2. Low noise and small wind resistance.

3. Adaptive positioning from both front and back and high precision repetition.

T:24=AT3 HRCS58-60

7:24

&t H

End milling

(O®|PAGE 12

WEAEZ REEE

Tapertolerance  Surface hardness

¥ L

Finishing




OO HRE

PRECISON MILLING HOLDER #8358

PRECISON MILLING HOLDER #td3zi%E

‘ G2.5
30000RPM

N\ 7 ™
= P
BT-GER HIGH SPEED ER COLLET CHUCK -
e —
BT-HGER S1£/J1A LU
B 5% KIFEE] B 12 79 21 B B2 e
Specification l Clamping range | | 1 oC Min™’ ‘ Collet I Nut
-HGER16-70 3.0~100 70 48 30 30000 ER16 HGER16
-HGER16—100 3.0~10.0 [ 100 78 30 30000 ER16 HGER16
-HGER20-70 2 0~120 70 48 35 30000 ER20 HGERZ0
-HGER20-100 3.0~12.0 100 78 35 30000 ER20 HGERZ20
-HGER25-70 3.0~16.0 70 48 40 30000 ER25 HGER25
-HGER25-100 |  3.0~16.0 100 | 78 | 40 30000 ER25 HGER25
-HGER32-70 3.0~20.0 70 48 50 25000 ER32 HGER32
-HGER32-100 3.0~20.0 100 78 50 25000 ER32 HGER 32
-HGER16-70 3.0~10.0 70 43 30 25000 ER16 HGER16
-HGER16-100 3.0~10.0 | 100 | 73 30 25000 ER16 HGER16
-HGER20-70 3:0~12.0 70 43 S0 25000 ER20 HGERZ20
-HGER20-100 3.0~120 | 100 73 35 25000 ER20 HGERZ20
-HGERZ25—70 3.0~16.0 70 43 40 25000 ERZb HGER?25
-HGER25-100 3.0~16.0 100 73 40 25000 ER25 HGER25
-HGER25—-150 3.0~16.0 150 123 - 40 25000 ER25 HGER?25
-HGER32-70 3.0~20.0 70 43 90 20000 ER32 HGER32
-HGER32-100 3.0~20.0 100 13 50 20000 ER32 HGER32
~HGER32-150 3.0~20.0 | 150 | 123 | 50 20000 ER32 HGER32

tx 8t/ Feature . " | |

-

MEE{K, EFE/N

SR

. EEETE, 7IWMEES, BEEN0.003mm, HiRAESEEIF
. TRUEEZFSRET, HAIRFAS0%, EEigT],

. AEfRO T E 2 BREE

BIEEBEEENMN, SEEREES.

and drilling machining center , maximum G2.5 30000 rpm.

o AW

O®)|PAGE 13

T type screw design enhances 50% of the torque value to avoid drop of the tool.
Non-decenter balanced round nut.

Adaptive positioning from both front and back and high precision repetition.
. Low noise and small wind resistance.

Pre-balanced, high precision run-out 0.0083mm, applied for high speed engraving&milling

IOBEE A 711, & 5538 G2.5 30000rpm.

T 24=AT3 HRCS58-60

— | =D
#tHl fBhnLT HEAE FREEE
End milling Finishing Tapertolerance  Surface hardness

| G2.5 |
30000RPM

4 I N
alet -I———-Id [rﬁ

1.

2.

3

e ﬁ/ Feature . —

1. BB TE, 7IHEER, 5RMESEI P OIS F 7R, BE10.003mm, &5 #8538 G2.530000rpm,

Vv
BY 5% BIEERE
Specification | Clamping range | d1 d2 | L | L1 M
-GER16-70 3.0~10.0 27 | 27.5 |70 | 48 | M22X1.0
-GER20-70 3.0~13.0 30 | 305 | 70 | 48 | M25X1.0
—GER25-70 3.0~16.0 35| 35.5] 70 | 48 | M30X1.0

Z18, EM/N. 3. BIFEEREMN BEEXRXBES.

Pre-balanced, high precision run-out 0.003mm, applied for highspeed
engraving&millingand drilling machining center , maximum G2.5 30000 rpm.
Low noise and small wind resistance.

. Adaptive positioning from both front and backand high precision repetition.

| G2.5 |
30000RPM

O HRE

NBT-GER HIGH SPEED ER CHUCK SYSTEN

NBT-GER SiE/J1A
B2 EES IwRF  SHTIE
Nut Collet | spanner
GER16MIN ER16 29 NBT30
GER20MIN ER20 30 NBT30
GER25MIN ER25 ab NBT30

7:24

724 AT3

HRC58-60

=4

5t H

End miling

BT

Finishing

WERE RABEE

Tapertolerance  Surface hardness

< L > ., ‘ J ! ‘ 3
] = . | H ' ' 4 4
‘-ZM -__I j_ e I’ . ;’ '
S iy
. r | ’“‘
s @ & -
NBT-SK HIGH SPEED TOOL HOLDER
U NBT-SK SiE/JiR
AU 3R HIEEK LA =15 F o8 7] fiE
Specification lCIamping range| d1 dz L | L1 M \ Nut Collet | spanner
-GSK10-60 3.0~10.0 27 | 275 60| 38 | M21.5X1.0 GSK10 SK10 | HGC27 | NBT30
-GSK16-60 3.0~-16.0 40 | 40.51 60| 38 | M32X1.0 GSK16 SK16 | HGC40 | NBT30

4Bt/ Feature

1.

- AL

AW

REEFHV220R5ENHEEE, A BI8E, BEE,

. EHEEES, SCRBEVIHIARE, EREATFGER.
BE.0ES, BRENEIRE, REBNIRERBE.

Pre-balanced, high precision run-out 0.003mm, suitable for high rotating ,
maximum G2.5 40000 rpm.

Surface hardness up to HV 220 by rotating, no damage and noise
Covering interface with precision vibration and high metal removal,increased tool life

O®|PAGE 14

. High concentricity, stable run-out accuracy to enhance fine machining surface roughness.

a2 8T, 7IWMBES, B8 53 EHE, B E)0.003mm, & 5¥5:%G2.540000rpm;

—F

T:24

T:24SATS

HRC58-60

=0

A it Hl

Borehole End milling

F&EHN T

Finishing

HERE REEE

Tapertolerance  Surface hardness




O HRE

PRECISON MILLING HOLDER #8358

OO HRE

PRECISON MILLING HOLDER #td3zi%E

G2.5
30000RPM

4 4 N\ N
s
ISO HIGH SPEED TOOL HOLDER $
ISO I%.I :Ejj*ﬁ \. - . J/
B 5% R T 2BhE  fk RF HF2
Specification Clamping range I d1 | | 1 M Nut Collet I spanner spanner
~ER10—35 3.0~10.0 22 | 39 27 M19%x1.0 | ER16MS | ER16 S0 20 ER16MS
—~ERZ(0—35 340~13.0 28 | 35 27 | M24x1.0 ER20MS | ER20 | 1SO 20 ER20MS
—ER 1635 3.0=10.0 22 | 35 27 M19x1.0 | ER16MS | ER16 SO 25 ER16MS
~ERZ20—35 30130 28 | 35 27 M24x1.0 | ER20MS | ER20 SO 25 ER20MS
—ERZ75-35 3.0=16.0 235 | 35 27 M30 x 1.0 | ER25MS | ER25 S0O25 ER25MS
-ER16-60 3.0~10.0 22 | 60 | 441 | M19%x1.0 | ER16MS | ER16 ER16MS
-ER20-60 SU0-13.0 28 | 60 | 441 | M24x1.0 ER20MS | ER20 ER20MS
~ER25-60 2.0=16.0 35 | 60 | 441 | M30x1.0 | ER25MS | ER25 ER25MS
45 25/ Feature
1. 7JHRfRES, BtE10.003mm, 55 8 #EG2.530000rpm,
2. BRMEHREERIIMR,
3. BEMRIFRE, EEBMIREFE.
1. High precision run-out 0.003mm, maximum G2.5 30000 rpm.
2. Suitable for high speed engraving&milling and drilling application with super finish surface.
3. Stable run-out accuracy to enhance fine machining surface roughness.
@ | —J 0| e

BEAE REEE

Tapertolerance  Surface hardness

F5in T

Finishing

=P BLH|

Borehole End milling

O®)|PAGE 15

L3

] o
- B £ @ ™
BT-HER SLIM COLLET CHUCK
P
| -, U BT-THER /& J1HR
B 55 SIS E TNARSRE  WBIE  EK RF
Specification Clampingrange |®d1 | ®d2| L L1 L2 Tool clamping Nut Collet | suitable spanner
1 E{li] THER11-100M | 1.0~7.0 | 16 [20.9|100| 78 | 73.2 19~48 HER11M | ER11 HER11
THER16-100M | 1.0~10.0 | 22 _26.5 100 78 13,2 29~58 HER16M | ER16 HER16
MqEN] THER11-100M | 1.0~7.0 16 120.21100]| 73 | 65.3 19~48 HER11M | ER11 HER11
THER11-160M | 1.0~7.0 18 125.5(160.1133 |125.3 19~48 HER11M | ER11 HER11
THER16-100M | 1.0~10.0 | 22 126.11100| 73 | 68.2 29~58 HER16M | ER16 HER16
THER16-160M | 1.0~10.0 | 22 [31.3 160_ 133 |128.2 29~58 CHER16M | ER16 HER16
100M | 1.0~7.0 16 | 20 [100 |54.3] 62 19~48 HER11M | ER11 HER11
160M | 1.0~7.0 16 126.21160 (122 |114.9 19~48 HER11M | ER11 HER11
100M | 1.0~10.0 | 22 |27.5(100]| 62 | 54.9 29~58 HER16M | ER16 HER16
160M | 1.0~10.0 | 22 |33.8|160 (122 | 100 29~58 HER16M | ER16 HER16

EHS3uHP]

4 BE/Feature

1
2
3
4.

B WN -

-190E RS R

087

INE

B3 With 3 u HP Grade Collet

TAPPING MINIDIAMETER DRILLING

REMIEE.

-

2 FL
REAMING

. VAP ERETEEMMIES, BEEAEREMT,
. TRUBR PRt R IF ), EERRBES,
. B ERELBIEE, AR/ ERE
2 TE, BHIEE,

Taper design to reduce the processing shock, suitable for deep cavity machining in mold.
T-type screw ensures powerful clamping strength,high precision repetition.
Tough material for round clamping nuts to reduce wind resistance.
Deep Cryogenic treatment below —190 °C,stable run-out accuracy to enhance fine machining surface roughness.

O |PAGE 16

- G6.3

25,000 RPM

BT30/RT40

G2.5

AL Option
BT30/RT40

25,000 RPM

 G6.3

25,000 RPM
BT50

(G2.5

25,000 RPM
g Option
BT50




O HRE

PRECISON MILLING HOLDER #8318

PRECISON MILLING HOLDER #td3zi%E

| (52.5 |
30000RPM

' ' )
BT-ERCOLLET CHLICK
BT-ER 314 7147 =5 ,,
BY 5% BEERE BRME BES RF BE
Specification Clamping range| d1 | | 1 M Nut Collet spanner WeightKG)
[l -ER16-70 3-10 |28 | 79 | 48 [m22x15| ER16A |ER16| ER16A | 90
~ER16-100 100 | 78 0.80
~ER20-70 70 | 48 0.75
i 3-13 | | o _ M25><1.5_ ER20A |ER20| ER20A g
R25-70 70 | 48 0.70
eyt 3-16 42 | 100 | 78 | M32x1.5| ER25UM [ER25| ER25UM {AE
R32-70 70 | 48 0.95
briliet 3-20 50 | 109 | 78 | M40x1.5 | ER32UM |ER32| ER32UM e
R16-70 70 | 43 1.20
R16-100 3-10 28 | 100 | 73 | M22x15| ER16A |ER16| ER16A 1.30
R16-150 150 | 123 | 1.35
R20-70 70 | 43 1.40
R20-100 3-13 34 | 100 | 73 | M25x15| ER20A |ER20| ER20A 1.50
R20-150 150 | 123 1.70
R25-70 70 | 43 1.30
R25-100 3-16 42 | 100 | 73 | M32x15| ER25UM |ER25| ER25UM 1.65
R25-150 150 | 123 225
R32-7 80 | 43 1.30
R32-100 3-20 50 | 100 | 73 | M40x15| ER32UM |ER32| ER32UM 1.70
R32-150 150 | 123 _ 2.50
R40-100 100 | 73 2.05
.. s 6-26 63 | 450 | 103 | MBOX1.5 | ER40UM [ER40| ER40UM 246
R16-100 » 100 | 62 4.30
kst 3-10 28 | teq | 14o | M22x15| ER16A  [ER16| ER16A 450
R20-100 100 | 62 4.30
220-150 3-13 34 | 450 | 110 | M25x15 [ ER20A | ER20| ER20A 4,76
Reo 1o 3-16 | 42 [ 100 62 | vaox15| ER25UM |ER25| ER25UM | 440
~ER25-150 150 | 112 5.50
~-ER32-100 y 100 | 62 4.80
_ER32-150 3-20 50 | e 112 M40 x 1.5 .. ER32UM |ER32| ER32UM hps
~ER40-100 100 | 62 4.40
~ER40-150 6-26 63 | .4 112 | M50x1.5 | ER40UM |ER40| ER40UM = £
4Bt/ Feature
1. HRsETE, 7IWIEES, $$)0.003mm, &&¥H:EG2.530000rpm, sl
2. ALES, BEMNEHRE, ERES. | =

1. Pre-balanced, high precision run-out 0.003mm, G2.5 30000 rpm.
2. High concentricity, stable run-out accuracy for most wide application.

O®)|PAGE 17

B

Borehole

5t Hl WERE RAEE

End miling

Tapertolerance  Surface hardness

OO HRE

1. KB

2. EIOHNER

3. Bk

4. FEHRE

5. 7K

6. ET

7. 920§

8. Bk

9. FmimEt

10. B0 HRER

% ™ N

o
= > BT-C POWER CHUCK TOOL HOLDER
. LY ) ) *HBREEAR, BES- BT_C %"ﬁjﬂ:ﬁ
AU 3% AMEI KR FE Size RF fa 38 E)-

Specification D L2 L1 L D1 suitable spanner Collet weight(KG)
—(20—-80 20 80 70 128.4 D3 C20-BS C20 1.80
—025-80 25 80 43 128.4 60 C25—BS C25 1.95
~(20-105 20 105 70 170.4 53 C20-BS C20 2.60
=25~105 25 105 73 170.4 60 C25-BS C25 2.65
32105 32 105 /6 170.4 70 Ca2-BS C32 2.80
—~a32—135 32 135 /6 200.4 70 C32-BS G372 3.00
~{a2—185 32 165 76 230.4 70 C32-BS C32 250
~C20-105 20 | 105 | 70 206.8 | 53 C20-BS C20 4.50
25105 25 105 | i 206.8 60 C20-BS 725 4.60
—Ca2=105 105 206.8 515
—(032—135 32 135 95 2360.8 70 C32-BS G332 5.90
—>32-165 165 2060.8 6.60
—42—115 42 115 | 98 216.8 92 C42-BS C42 6.10
—42=13b 42 130 98 236.8 92 C42-BS C42 6.60
~C42-165 42 | 165 | 98 | 2668 | 92 | ca2-Bs C42 7.40

t28t/Feature

ZIHARFL B LADI IEIBE), MARKEFA,
. RAMKRE BT AR ESEMEREEEBEEITE.

. IRFETIE, BAEIRES

. 6 slots design inside the holder to avoid slipping, enhancing clamping force.

. Frictional gripping force increased by the clamping design,when the
cutting tools slip to the cone face.
Reinforced thickness of the chuck holder improve the rigidity and anti-vibrations.

=

i
5
3. mEFEMEsRst, REAITE, BrlEZES.
4
1
2

4. High clamping force and run-out accuracy.

O®|PAGE 18

XS ERNINEET R BRI RELESE

A EREE R &

<>

BEEEERRIFNET
(IR E R B1THR)

ZINEET
RS

BENE E S RN

(1% AR HE A TRAE, [HUL3TIE)

RERAYINEERET, ATLUEMEIME, WAZIEt 7IHE YA
Mk B RIR A EEE ] LUERFA 19 E R, LUER
AR F N RIBENIBREBE




O HRE

BT-C POWER CHUCK TOOL HOLDER
BT-C Si&EJItA

PRECISON MILLING HOLDER #8318

AT

N = 5 W N =

4 BE/Feature

TIRA FL o ZlekE ARG IEE S, IAKFKIF,

N4 BB 7 B 88 E S M R B B R R %
mFEmEsRsT, RSEE, BhIEES.

m¥EEhE, BREBES.

6 slots design inside the holder to avoid slipping, enhancing clamping force.
Frictional gripping force increased by the clamping design,when the

cutting tools slip to the cone face.

ol

U ERRZTIMWIZ. FEXR7EZSE. ~E1E. RF—3Z. wmE—3Zo

O®|PAGE 19

BU SR P B T 5 AR
Specification 1 COLLET spanner

C20-80-7PCS

| C20-105-7PCS C20 3,4,6,8,10,12,16
C32-105-7PCS - 6,8,10,12,16,20,25
C32-105-7PCS ' 1/4,5/16,3/8,1/2,3/4,5/8,1”
C20-105-7PCS C20 3,4,6,8,10,12,16
C32-105-7PCS - 6,8,10,12,16,20,25
C32-105-7PCS 3/4,3/8,5/8,5/16,1/4,1/2,1”
C42-115-8PCS i 6,8,10,12,16,20,25,32
C42-115-8PCS C 1/4,5/16,3/8,1/2,3/4,5/8,17 ,1-1/4

Reinforced thickness of the chuck holder improve the rigidity and anti-vibrations.
High clamping force and run-out accuracy.

PRECISON MILLING HOLDER #td3zi%E

BT40

BT50

O HRE

L [EAVY DUTY TOOL HOLDER

) " BT-OZ =1J]HI 711k
diy i R ~t Sie B i)

Specification D2 L D L1 Collet Type

0Z25-80 325 80 60 30 0725
0Z25-120 325 120 60 30 DZ£25
0/32-80 b—92 80 12 3 0732
0Z32-150 6—32 150 ¥ 33 OF37
0Z25-90 3-25 90 60 30 0725
0Z725-130 3-25 130 60 30 0725
0732-105 6-32 105 72 33 0732
0/Z232-150 6—32 150 /2 33 0/32

4Bt/ Feature .

FFTAR F 4515 BE 0 E B VI HI N LT 5 51

BEE TRFEAR TR ELZLTIA,

Reinforced thickness of the chuck to improve the rigidity and low tendency towards vibrations.

T

3.

1. Special clamping structure supports strong clamping force for heavy duty processing.
2,

3. Suitable for drilling,milling and tapping tools.

SiBsENF . 2. RIFEFMESHET, RS

BltE, WAOEH.

S e N (s
2°52' -6"'§"‘;’ ______________ i Inz D1 oe=mee I _? _
oy | -
R - -
L
Specification D1 L D2
0Z25 39.9 e 3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22,23,24.25
()7 52 44 | 60 | 6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22,23,24,25,26,27,28,29,30,31,32
L
Specification D1 L D2
025 | 35.5 52 1/8,3/16,1/4,5/16,3/8,7/16,1/2,9/16,5/8,11/16,3/4,13/16,7/8,15/16,1"
0/Z32 44 | 60 1/4,5/16,3/8,7/16,1/2,9/16,58,11/16,3/4,13/16,7/8,15/16,1",11/8",11/4"
]
o
T g
- e ==4T11 =1 : 5{"; ) =
M FYIEIOZENE OZ IR F
AR =2y RUSR =t Size(mm) il
Specification| C D1 D3 Collet Type Specification D1 Collet Type
BN25 30 60 MA48 x 2 Q225 WO/Z25 60 0/Z25
BN32 33 /2 ME0x2.5 | OZ32 WQ/Z32 80 0/Z32

O®|PAGE 20




O HRE

PRECISON MILLING HOLDER #8318

O HRE

PRECISON MILLING HOLDER #td3zi%E

’/) 4-M16*2.0F
R I i (4-M12*1.75P)
<—»I'2 ERmE#t 7AW
4 N 7 ! r’ i O ™
BT-APU DRILL CHUCK HOLDER hi 30 BT-FMA FACE MILLING ARBOR
H— %= O o
BT-APU —gS=(iZ3ks = /L8 — BT-FMA E#t/7)iR
RS R =t Size BAAEIE 55 AU R =t Size 55
Specification D1 D2 l L1 L Clamping range Weight(KG) Specification d1 D L1 |2 L K1 K2 Weight(KG)
-APU8-80 S6.9 46 380 137 .4 ).5~8 0.80 -FMA25.4-45 45 113.4 1.00
m 25.4 50 20 . 4.52 9.92 ..
~APU13-110 48 46 110 | 158.4 1~13 1.85 pRlRs a0 60 2 -30
~APU16-110 55.5 46 110 158 4 3~16 218 -FMA31.75-45 L 60 45 22 115.4 0.7 12.7 1.35
~APU8-85 36.5 0.63 85 150.4 0.5~8 1.46 :Emgg-j:gg s s | s gg - gg-j 452 | 952 2-23
—ARPU13-105 48 0.63 105 170.4 1~13 2.00 FMA31.75 45 ' A5 : 32‘4 2'00
:EEE::EE :32 :32'2 233 ~FMA31.75-90 31.75 | 60 | gg | 22 | q774 | 67 | 127 2.90
~APU16-130 99.5 0.63 130 195:4 3~16 2:60 -FMA38.1-60 281 o 60 25 150.4 8.87 15.87 2.80
~APUS8-90 26.5 100 90 191.8 0.5~8 4.20 -FMAS50.8-90 50.8 98 90 26 181.4 9.75 19.05 4.60
~APU13-110 110 211.8 4.70 ~FMA25.4-45 45 166.8 4.40
_APU13-180 48 100 180 281 8 =13 5.80 ~FMA25.4-90 25.4 50 90 20 211.8 | 452 | 9.52 5.10
_APU16-115 115 216.8 510 -FMA25.4-150 150 271.8 6.10
-APU16-130 55.0 100 130 236.8 3~16 4.80 -FMA31.75-45 45 168.8 4.50
-APU16-190 190 296.8 6.10 -FMA31.75-90 31.75 30 90 29 213.8 6.7 12 7 5.70
#%Eﬁ/Feature -FMA31.75-150 150 2138 6.00
1. RIS, U IEAE N, MTEEAE, g e 81 | 22 | o | 2 | oe | s5r | 1500 o
2. KRB E, MIEEBPRMEHEILAEIBMEZZIEEMNEFS, BhILEERITIB. : . ‘ ' ' '
3. KiFNHiE, SHEE, BFAMA. 4. BAZEER, SEKMERK. —FMAS50.8-90 90 217.8 6.95
1. Integrated design of holder and chuck prevents separation of the tool components, ensure reliable and stable machining. -FMAS0.8-150 20.8 95 150 20 277.8 S 18.05 7.90
2. Selftightening, gripping force is enhanced when the drilling torque increase, which can avoid slipping of the drills.
3. Super drill chuck with high precision and durability. -FMA47.62-75 4.7.62 | 128.75 5 | 32 208.8 12.5 25.4 7.90
4. Wide application in drilling machine,milling machines and lathe. 4:# E JE /Feature
1. BZ@EL, FITHAKRRE. 2. WEEEE%, 3. ERAPOREFE, FHIEIBTFEILNEERE,
| 1. Hollow design to increase water outlet and low tendency towards vibrations.
2. Clamping nuts included.
NP : Ee 3. Separated order for clamping nuts is needed, if using internal coolant system.
RN AR T
STRAIGHT SHANK DRILL CHUCK MORSE TAPER DRILL CHUCK 5
> pdk—— 0 == B — ek o i ' ’
C'APU E*ﬁﬁ”ﬂ%ﬂ MT'APU %K*ﬁ_gﬁﬂﬁgﬁﬁ o -X[}@ __________________ ._4@_. _____ - I 1_| |
BU55R 1 BUSiR . _
= S bt ) | *  STRAIGHT FACE MILL ARBOR EXTENSION HOLDER
—-APU8 120 -APUS8 164 % - ; ¥ —
.. .. | il Lr R~ Size
-APU16 50 -APU16 84 = ‘
- Specification d1 d2 D L1 L
E o o - R elal e ~FMB22-60 20 60 98
m -APU13 165 ~FMB22-100 32 100 138




OO HRE

PRECISON MILLING HOLDER #8318

. 'w.%

BT-FMB FACE MILLING ARBOR

BT-FMB Mkt /]

BU5iR
Specification
-FMB22-45
-FMB27-45
-FMB32-45

—FMB22-45

-FMB22-60

-FMB22-100
-FMB22-120
—FMB22-1350
-FMB22-200
-FMB22-250
-FMB22-300

—FMB27-60

-FMB32-60
—FMB40-60L

-FMB22-100

-FMB22-150
—FMB22-200

—FMB22-250
-FMB22-300
-FMB22-350
—FMB22-400
-FMB22-450
-FMB22-500

-FMB27-100
-FMB27-150
-FMB27-200

-FMB32-100
-FMB32-150

—FMB40-60
-FMB40-100
-FMB40-150

-FMB60-60

BT40

23oEfl, FFHAERME,
Bt 2% [E] BR % o

Clamping nuts included.

WN = WN =

d1 D
22 | 48
27 | 60
32 78
22 48
27 68
32 78
40 80
22 | 48/58
27 60
32 78
40 89
60 | 140

ERPONCE, BERINEIETFEILNERE B,

Hollow design to increase water outlet and low tendency towards vibrations.

L1
45
45
45

45

60

100
120
150
200
250
300

45
45

45

100
150
200

250
300
350
400
450
500

100

150
200

100
150

60
100
150

60

L -

R

I Size
12
18
20
22

18

20
27
25

18

20

22

25

26

O®|PAGE 23

L
11.4
13.4
15.4

128.4
143.4
183.4
205.4
233.4

283.4
283.4

333.4
128.4

128.4

128.4

201.8
269.8
319.8
369.8
419.8
469.8
519.8
569.8
619.8

201.8
269.8
319.8

201.8
269.8

176.8
201.8
269.8

161.8

)=

.

11

b

K1
4.8

5.8
6.8

4.8

5.8
6.8
3.3

4.8

5.8

6.8

83

12.9

Separated order for clamping nuts is needed, if using internal coolant system.

EAmEEHNR

IUINIPSY IS

10

10

12

14

16

25.4

K2

4-M16*2.0F

(4-M12*1.75P)

55

Weight(KG)

0.85
1.20
135

1.45
1.70
2.0
2.30
310
3.80
4.50
810

1.60
1.70

210

5.20)
6.80
7.00
8.00
9.00
10.00
12.00
12.00
13.00

6.50
7.50
9.950

6.20
7.00

5.20
7.20
7.80

8.50

t 0L/ Feature

PRECISON MILLING HOLDER #td3zi%E

NT-FMB FACE MILLING ARBOR
NT-FMB Et 711R

O HRE

FON A
Flgss R =~ Size DRAW BOLT

Specification HiRd L L1 L2 K INCH METRIC

FMB22—-30 22 131.4 30 18 10 5/8"-1UNC M16 x 2.0
FMB27-30 57 133 .4 30 20 12 5/8"=1TUNC M16x 2.0
FMB32-45 32 135.4 45 22 14 5/8"-1UNC M16x2.0
FMB40-50 40 138.4 50 25 16 5/8"-1UNC M16x2.0
FMB22-35 22 164.8 39 18 10 1"-8UNC M24 x3.0
FMB27-35 27 166.8 3D 20 12 1"-8UNC M24 x 3.0
FMB32-35 32 168.8 35 22 14 1"-8UNC M24x 3.0
FMB40-35 40 216.8 35 25 16 1"-8UNC M24x3.0
FMB60-65 60 216.8 65 25 295.4 1"-8UNC M24 x 3.0

8L/ Feature |

et ol ol o =

. BxXEEL, PTHAKERE.

Bt 2% [E] 2R A4 o

. ERRORRE, ERIIETEFEILNER

1245

Hollow design to increase water outlet and low tendency towards vibrations.

Clamping nuts included.

Separated order for clamping nuts is needed, if using internal coolant system.

O®|PAGE 24




OO HRE

PRECISON MILLING HOLDER #8318

PRECISON MILLING HOLDER #td3zi%E

‘d1\

= gI:.

D1

FMB22

D2

MILL CHUCK
FMB-FMB 13t /) 1R 3T = #2528

2 3
Specification
FMB22 FMB22
FMB22
MILL CHUCK

B 3%
Specification

d2

22
22

d2

FMB-FMB @&t 7]

R ~F Size
D1 D L1 L KG
s 47 40 60 0.5
22 58 50 70 0.6 |
ELE e
R =t Size

d1

D1 D2 L1 L KG

£ Sk
Specification

FMA25.4

d2

25.4

O®|PAGE 25

FMB-FMA mEx 74

D1

22

FMB27 27 22 47 58 40 60 |0.64
MILL CHUCK
FMB-FMB Tt 7] #5128
A o= R =~ Size
Specification | d2 | d1 \ D1 | D2 | L1 L | kG
FMB22 FMB32 | 32 | 22 | 47 | 58 | 48 | 70 |08
MILL CHUCK

JBE R fE

R ~] Size
D 1 L KG

47 40 60 | 0.52

1

2.
1.
2,

L

Specification

-S

_A6—-60
_A8-60
_A10-60
_A12-60
_A16-90
_A20-90
| A25-90
_A32-105
| A6-75
_A8-75

' A10-75
A12-75
_A16-90
_A20-90
A25-90
_A32-105
' A40-105
_A42-105
_A6-105
_A8-105
_A10-105
_A12-105
 A16-105
_A20-105
_A20-150
_A20-200
_A25-105
_A25-150
_A25-200
' A32-105
_A32-150
_A32-200
_A40-105
_A42-150
A42-200
_A42-250

_A50.8-120

e _ _ | _

N B EF, NHEVE OFmaRe 8 7] MavAlE BRe] HE, MW=,

©
o

3 LY L ('JJNN\ LN LY
oS | R o] ola| v [ R

20
20
20
25
29
25
22
32
32
40
42
42
42

51

L

60
60
60
60
90
90
90
105
{9
75
5
75
90
90
90
105
105
105
105
105
105
105
105
105
150
200
105
150
200
109
150
200
105
105
150
250
120

OC

25
28
39
40
40
50
50
60
25
28
35
40
40
50
50
60
70
70
25
28
35
40
40
50
50
50
50
50
50
60
60
60
70
70
70
70
90

Aol EES - HEFABESAH TREFEFAIEFmI |

BT-SLAWELDON

R =~ Size
HMIN) | HVAX)
20 39
20 35
39 950
39 50
Ho 70
55 70
85 70
65 80
20 39
20 39
a9 50
35 510,
8o 70
ob 70
oD 70
65 80
65 80
65 380
20 35
20 39
3D 50
3b 50
G 70
5b /70
ob 70
BH 70
5b 70
30 70
Hb 70
05 80
65 80
b5 80
b6b 80
65 80
65 80
65 80
65 80

RIE 7R ARE AR, EAMTIMtLEERS, LAERSEAIEZESTMMLE.

The slot face should be adjusted equally to the side screw and be tightly locked.
The pattern of the holder is different ,so confirm the position of the side screw before choosing the chuck type.

O®|PAGE 26

13
13
20
20
20
20
20
20
20
e
25
23
25
25
25
25

35

OOL HOLDER

BT-SLA f8I[E 7]

H2

13
13
20
20
20
25

13
18
20
20
20
25
25
25

13
13
20
20
20
20
20
20
20
25
25
25
25
25
25
20

35

M
M6

=2 S
ODOONNNNNNO OO RIS

=ZZZETTTTTTS

< <
N NN =
o olc

(@)

M20
M20

i3
Weight(KG)
0.55
0.6
0.7
0.75
.05
1l
1.7
1.85
1.2
1.25
1.3
1.35
1.6
1.65
2.5
2.8
2.95
3.15
3.9
3.9
4.0
4.0
4.5
4.7
5.5
6.0
5.2
6.0
7.5
6.0
b.b
7.5
6.6
7.2
7.8
7.8
7.4

J




OO HRE

PRECISON MILLING HOLDER #8358

PRECISON MILLING HOLDER i85z E

BT-MTA MORSE TAPER DRILL CHUCK
BT-MTA == iE 280 TR

Specification
MTA1-45
MTA2-45
MTA3-45
MTA1-45
MTA1-120
MTA2-45
MTA2-120
MTA3-75
MTA3-135
MTA4-90
MTA4-165
MTA1-45
MTA1-120
MTA1-180
MTA2-45
MTA2-135
MTA2-180
MTA3-70
MTA3-150
MTA3-180
MTA4-90
MTA4-180

MTAS-105

BT40

28 (Type)

- I =X N N Y =N N N =SSN N == N

12.065
17.780
23.825

12.065

17.780

23.825

31.065

12085

17.780

23.835

31.267
44.399

R < Size

FIG 1-

FIG2

L

45
45
45
45
120
45
120
s
135
90
165
45
120
180
45
135
180
s
150
180
90
180

105

w )
b ossesoss
_____________ -__..I,I;‘_T_N;j_-- n‘[u
\, L ) 4
/
i
i
LTI
________ i
-1L I=
4 g
—\
—_
E
C W Weight(KG)
20 5.6 0.55
30 6.6 0.6
40 8.4 0.7
1.05
25 h.b 1.4
1.1
32 6.6 185
1.259
40 8.4 19
1.45
50 12.4 5 5
3.8
25 5.6 4.3
5.0
4.0
25 6.0 4.7
5.0
3.8
40 8.4 5.0
5.5
4.5
50 12.4 e
4.3

BRL4EHEE FIG 1

MR ETEE FIG 2

=

C1

2/

f|

MT.NO

L

B

O®|PAGE 28

- ~
=
BT-MTB MORSE TAPER TOOL HOLDER
. BT-MTB ==& 711K
R i
Specification = ( Manner ) D L C C1 G I Weight(KG)
MTB1-45 ) 12.065 45 25 10 M6 % 1 (.55
MTR2-45 12.065 45 32 10 M10 x 1 0.55
MTB1-45 12.065 45 25 10 M6 x 1 1.05
MTB2-45 17.780 45 32 18.5 M10x1.5 1.85
MTB3-75 28.825 5 42 18 M12x1.75 1.3
MTB4-90 2 31.267 90 o0 20.5 M16 x 2 1.4
MTB1-45 12.065 45 25 10 MG X 1 3.8
MTB2-45 17.780 45 32 16 M10x1.5 3.9
MTB3-60 23.825 60 42 18 M12x1.75 4.0
MTB4-75 31.267 5 50 20.5 M16 % 2 4.2
MTB5-120 2 44 .399 120 70 22.5 M20 x 2 4.3
L AEE T
Specification Supporting Shank G
BT30-45°-MTB2 BT30-MTB2 M10x1.5
BT40-45"-MTB2 BT40-MTB2 M10x1.5
BT40-45"-MTB3 BT40-MTB3 M12x1.75
BT40-45"-MTB4 BT40-MTB4 M16 x 2
BT50-45°-MTB2 BT50-MTB2 M10x1.5
BT50-45°-MTB3 BT50-MTBJ M12x1.75
BT50-45°-MTB4 BT50-MTB4 M16 x 2




O HRE

PRECISON MILLING HOLDER #8318

PRECISON MILLING HOLDER #td3zi%E

BT-SLO OIL-FEED TOOL HOLDER

BT-SLO jmi%7I1R

AR
Specification
SLO32-150
SLO40-150
3L SLO32-160
SLO40-160

d
32
40
32
40

L
150
150
160
160

HERENTSRE o

1. Tool body finish machined for stable run-out accuracy.

B

60/65
60/65

80/82

80/82 |

4= BE/Feature _-

1. 7IWMAEBIEIINT, MITiEFiES

b2
70
54
64

R =t Size

90
90

100
100

- L o
|1_LU'_.,
JHAH |
|| IS 5
,' \iF_IL B © 1
BT.NO.| : T i
e Ll ek '
r=—yl 11> -J:|_ J
PT% POSITION BLOCK
e %
L0 L1 H Al
50 60 15 15
50 70 19 18
50 60 15 15
50 70 19 18

WFaT

B, RIRBERIGTHEEC

—

H1 <1+ H <

10 BEEEBAY R <F

L1

IR TIE ; .
RIS R =~ Size
Specification L L1 H H1 d D C
@ 16 65 10 15 15 16 32 53
20 65 10 15 15 20 32 53
25 65 10 15 15 25 32 53
16 75 10 19 18 16 40 63
20 75 10 19 18 20 40 63
25 75 10 19 18 25 40 63
32 75 10 19 18 32 40 63
bolt holes |/i5—
e . 1
| Foéie ] :
T i
RC(PT)3,/8or'% ‘/H/'-' f

O®|PAGE 29

/,,——-I_L = $
X I FD'[I D
o Ul = ,
(= -
-4 L L
Y
ERO OIL-FEED TOOL HOLDER
Ly ERO ihE% J]1R
B R ~+ Size fuME Center Dia
Specification D1 ]_ D L B
BT40 ERQ32-145 ERO32-96-®20 50 145 60/65
ERO40-150 ERO40-®6—- 025 63 150 60/65
BT50 ERO32-160 ERO32-06-020 50 155 80/82
ERO40-160 | ERO40-®6—- 025 63 160 80/82
1. EROi #% 714855 AERLE 7K (= 52 A L 7K 4208
2. ATEIEE, RIEESRISHESR P OEREBIIR;
3. EROMIE 7B LEFRE ZEMm.
p—
,_|Clamping
Range
- T
\ Y ay
BE ER 1E7KBIE R
A5 e 440E Al S} A
Specffication| Clamping Range Speciﬁcationl Clamping Range Specification] Clamping Range
m 4C 4.0-3.0 m 4C 4.0-3.0 m 71¢ | 21.0-200
| oC 5.0-4.0 5C 5.0-4.0 22C 22.0—21.0
6C 6.0-5.0 6C 6.0-5.0 23C 23.0=22.0
/7C 740640 7C T.0—60 24C 24.0—-23.0
8C 8.0-7.0 8C 65.0—7.0 290 25.0-24.0
9C 9.0-8.0 9C 9.0-8.0 26C 2b.0—25.0
10C 10.0-9.0 10C 10.0-9.0
116 11.0-10.0 116 11.0=10.0
120 12.0-11.0 126 12.0-11.0
1306 13.0-=12.0 13C 13.8=12.40
14C 14.0.=13.0 14C 14.0.—13.0
15C 15.0-14.0 15C 15.0-14.0
16C 16.0—15.0 16C 16.0—15.0
17C 1.4 ="kl 17C 17.0-16.0
18C 18.0-17.0 18C 18.0-17.0
19C 19.0—18.0 19C 19.0-18.0
20C 20.0-19.0 20C 20.0-19.0

O®|PAGE 30




O HRE

OO HRE

PRECISON MILLING HOLDER #8358 PRECISON MILLING HOLDER i858

7 |
P4 B EN#E EE3 1 mLAR
— LM N S 2%
o dihe
TEERE) £ 41G2.5,30000min =
IS4 % 75 @ 5 & A IR B #5 20.003MM 1 RO | ipmomppeppupapups D
| — SDC COLLET
UL SDC Bzt &3k
ATV I\ [5)
SDC HIGH PRECISION TOOL HOLDER ‘ ‘ : N
P BU557 s B BUE5R S B BUE5R BRE B
SDC a EI:_\T_Et 7] *ﬁ Specification| Standard | Precision Speciﬁcationl Standard | Precision Speciﬁcation\ Standard | Precision
e _ @ -3 0.005 [ 0.003 m —3 0.005 [ 0.003 m -3 0.005 [ 0.003
) ;i:rj.f;ﬁm . R ﬂ'L Size . —4 0.005 0.003 —4 0.005 | 0.003 — 0.005 0.003
—S;CG—GO 3 0B O B0 94 E —5 ~ 0.005 0.003 —5 ~ 0.005 | 0.003 ~5 0.005 0.003
_SDC6-90 3 0-6.0 90 14 5 -6 | 0.005 | 0.003 -6 0.005 0.003 -6 0.005 0.003
—SDC8-60 3.0-10.0 60 29 —B 0.005 0.003 -8 0.005 0.003
-SDC8-90 | 3.0-10.0 | 90 22 =10 0.005 0.003 =10 0.005 0.003
-SDC12-60 3.0-12.0 60 34 -12 | 0.005 0.003
—SDC12-90 3.0-12.0 90 34
-SDC6-100 3.0-6.0 100 4.5
-8DCB-150 3.0-6.0 150 14.5
-SDC6—-200 3.0-6.0 200 14.5
—8SDC6-250 3.0-6.0 250 14.5
-SDC8-100 3.0-10.0 100 22
-8DC8—180 3.0-10.0 150 22
-8SDC8-200 3.0-10.0 200 27
—-SDC8-250 3.0-10.0 250 22
-SDC12-100 3.0-12.0 100 34
~SDC12-150 3.0~12.0 150 34
-SDC6-100 3.0-6.0 100 14.5 . i
~SDC6-150 3.0-6.0 150 14.5 R — SDC iER=#FF
-8DC6-200 3.0-86.0 200 14.5 ‘
~SDC6-250 3.0-6.0 250 14.5 AR HE
8 306_300 3.0-6.0 _300 14_5 Specification d D L L1 Angle
~SDC8-100 3.0-10.0 100 22 m ST12-SDC6-120L 14.5 12 120 45
~SDC8~-150 3.0-10.0 150 22 ST12-SDC6—-150L 14.5 12 150 45
-SDC8-200 3.0-10.0 200 27 | | . | r
10 __ — A \ 1 ==]
-SDC8-250 3.0-10.0 250 22 ST_.G SDC6 #30L #4 5 !6 30 30 _ Efsu
-SDC8-300 3.0-10.0 300 22 ST16-SDC6-150L | 4.9 6 150 30 F143
-SDC12-100 3.0-12.0 100 34 ST16-SDC6-200L 14.5 16 200 35 Bih3°
-SDC12-130 3.0-12.0 150 34 - ST16-SDC6-250L | 14.5 16 | 250 35 43°
:ggg_é:ggg 2-8:, 5-8 ggg gj ST20-SDC6-150L |  14.5 20 150 | 30 i3
' ' » — - &4 353"
SDEAD-A00 2 0-19.0 300 34 ST20-SDC6-200L | 4.5 | 20 | 200 | 35 --3230
| - ST20-SDC6-250L | 14.5 20 250 35 3183
t55 ma/ Feature ST20-SDC8-150L 22 20 150 45
1, TEERETE, 7IWMBEES, BE0.003mm, §545:%EG2.530000rpmBE S S HEMI, ST20-SDCS8-200L 29 20 200 A5
2. EBENgsRET, RAOMIFiF. 1 |
3. RIS AEEE, MBHE, EERIEES. _Sldsseaa | 48 | 8 | e | 48
4, REMFHIDEGE, ER7SARFEIFA,
1. Pre-balanced, high precision run-out 0.003mm, maximum G2.5 30000 rpm,suitable for high precision machining.
2. Without clamping nut, less processing interference.
3. Back locking collet design ensures high clamping force and precision repetition.
4. Assembling and disassembling process is simple and easy by hexagonal wrench.
O®|PAGE 31 O®)|PAGE 32




PRECISON MILLING HOLDER #8318

[ ]|

PRECISON MILLING HOLDER #td3zi%E

INDEXABLE SCREW TYPE MODULAR CUTTER A | L Q;L/ f f (E i A | L7 @L/ /% ﬁ (K i INDEXABLE SCREW TYPE MODULAR CUTTER
5 g 3 | IR &R & FEH | | | 2 -

EI%%{_‘L%E ﬂ: Etiﬁjj *ﬁ ¥80 T EFE;)}HI gﬁ’é”ﬁﬂﬂl 1)5 I #ﬂ’\tﬂ%‘f #""iﬁ hﬂI #Hhul ZFEJJHI ﬂ%ﬁﬂul {h ﬂl:lI E\t)]&fr T mi {liﬁﬂ: _t ijll-:jj *ﬁ

BIE il
Specification M D DC L L2 L1 Specification M ) DC L L2 L1
B 50=ivio—alL 0 12 17 o0 / 30 BT50-M8-130L 8 6 30 130 / 95
BT30-M6-100L 6 2 | 17 100 / 80 BT50-M8-200L 8 16 32 200 / 165
BT30-M8-45L 8 15 17 45 / 25 BT50-M8-250L 8 16 37 250 / 215
BT30-M8- 50L 3 15 17 50 / 30 BT50- M8 300L 8 6 37 300 / 265
BT30- M 0-45- 10 19 2 45 / 25 BT50-M10- 200_ 10 20 37 200 / 165
BT30-M10-50L 10 19 Z 50 / 30 BT50-M10-250L 10 20 37 250 / 215
BT30-M10-100L | 10 19 | 5 100 / 80 BT50-M10-300L 10 20 | 37 300 85 265
BT30—-M12-60L 12 24 25 60 / 40 BT50-M12-130L 12 24 33 120 / 95
BT30-M12-100L | 12 24 | 26 100 / | 80 BT50-M12-200L 12 24 40 200 / 165
BT30-M16-45L 16 30 33 45 / 30 BT50-M12-250L 12 24 50 250 / 215
BT30-M16—-60L 16 30 33 60 / 40 BT50-M12-300L 12 24 | 50 300 105 2_65
BT30-M16-100L 16 30 | 32 100 / 80 BT50-M16—-130L 16 29 40 135 / 95
BT40-M8-70L 8 15 17 70 / 45 BT50-M16-200L 16 29 50 200 65 'I 65
BT40-M8-100L 8 15 17 100 / 75 BT50-M16—250L 16 29 55 250 85 215
BT1T40-M8-150L 8 1S 22 150 50 125 BT50-M16—-300L 16 29 55 300 105 265
BT40—-M8-200L 8 15 1| 22 200 70 | 175 | B | = = |
BT40-M10-70L 10 19 20 70 / 45 tE 8B/ Feature
BT40-M10-100L 10 19 25 100 / 15
BT40-M10-150L 10 19 25 150 / 195 1. RRHAES, TJREIIRBAGERE, JRES
BT40-M10-200L 10 19 31 200 70 175 2, ﬂ*ﬁﬁi‘%ﬁ?ﬁﬂﬂﬁ H % = 5’5 H%ﬁ‘&gm%%ji#iﬁ?“%
BT40-M12-200L 12 24 68 200 175 1. Modular type screw cutter connected with tool holder, countersink surface.
BT40-M16-70L 16 30 32 70 / 45 2. Direct connection without collet, repetition tolerance is reduced.
BT40-M16-100L 16 30 36 100 30 75 3. Equal cutting force promise the improved insert life and less processing chatter marks
BT40-M16-150L 16 30 41 150 / 125 4. Changeable screw cutter bar, precision repetition , suitable for rough and finish machining.
BT40-M16-200L 16 30 46 200 70 175 5. Various insert type can be applied for the the screw cuitter, different combinations with the tool holder are available .
. - . . Part of tools can be replaced easily, more economical
tE B/ Feature
RIBAHE, 7)ERETIFRIRAUEE, JIBRES
TNNREZEEETIE, BEGK, BEIRXERBEEAE

ZARVIAIASRE 7N RS, B nTi8izS H 5 E kS 2 Ak
AIRILT7IER, BREREES, EAFMENIEHR
ZNBEA VS BEARESE ) F, ROMBEES, EIDEMRSEREBAIIER, BREK

Modular type screw cutter connected with tool holder, countersink surface.

Direct connection without collet, repetition tolerance is reduced.

Equal cutting force promise the improved insert life and less processing chatter marks

Changeable screw cutter bar, precision repetition , suitable for rough and finish machining.

Various insert type can be applied for the the screw cutter, different combinations with the tool holder are available .
Part of tools can be replaced easily, more economical

S R

O®|PAGE 33 O®| PAGE 34




PRECISON MILLING HOLDER #8358

PRECISON MILLING HOLDER #td3zi%E

_________________ 'V / “L
i L g oy, < _j c
BT-SR SHRINK FIT CHUCK BEE, BaaERE _
BT-SR é:ﬁ 1: TRE% -M-j%i; G2.5% /5 #%:1%25000min 1, I ) HSK-ER TOOL HOLDER
2AE 71 HEDINKE B £ — HSK-ER 7155
il R =~ Size BE
Specification dd1 D1 D2 L1 L Weight(KG) Fugs SedEiE] feiratz ==
; ; - oC L L2
3l —SR3-80 4.8 3 9 ! 0 80 0.90 Specification Clamping range suitable Collet Weight(KG)
-SR4-80 15.8 4 10 10 80 0.90
j —ER16-80 28 80 54 ER16 0.8
-SR5-80 16.8 5 il 10 80 0.90 | :
-SR8-80, 120 - 19.8 8 14 10 80, 120 0. 90 .00 -ER25-105 42 105 [ 79 ER25 “ 1.2
-SR10=80; 120 21.8 10 16 26 80,120 0.90,1.00 “EFR392-110 50 110 84 ER32 1.4
-SR12-80, 120 23.8 12 18 32 80,120 1.10,1.35 N
_Sq.a‘q_ 80 120 258 14 20 38 80 p 20 130’.: 50 *#%ﬁ/Feature HSK 63A- GER16/20/25/32?§.1J—T§D
—SRI6-00, 120 205 s 2 51 o1 — 1. 7RIS, 2. BEMEDKE, RERNIREHE.
' : 1. High precision. 2, Stable run-out accuracy to enhance fine machining surface roughness.
- —SR20-90, 120 31.8 20 26 42 90, 120 2. 20 2.30
BT40 -SR3-90 17 S 9 10 90 1.00
-SR4-90 18 4 10 10 90 1.00 . = .-
~SR5-90 19 5 11 10 90 1.10 LS M
-SR6-90, 120 20 6 12 10 90,120 1.00,1.10 . _—
~SR8-90, 120 22 8 14 10 90,120 1.00,1.10 e 3 - N
-SR10-90, 120 24 10 16 26 90,120 1.10,1.10 | " '-"'-g'h
-SR12-90, 120 26 12 18 32 90,120 1.10,1.10
-SR14-90, 120 28 14 20 38 | 90,120 1.20,1.20 ~ . | .
—-SR16-90, 120 30 16 Y. 38 - 90,120 1:20.1.30 « -7 >
-SR18-95, 120 2 | 18 24 | 40 | 90,120 1.40,1.60 v \
-SR20-95, 120 34 20 26 | 42 95,120 2.00.2.20 = L — ‘
-SR25-100, 120 39 | 25 31 | 50 | 100,120 2.50,3.00 — -—|=‘ J& |
-SR3-90 17 3 9 10 90 3.40 an - = C W
-SR4-90 18 4 0 10 90 3.40 r
-SR5-90 19 5 1 10 90 3.50 - ' — e P, e, .
~SR6-90, 120 20 6 2 10 90,120 3.50,3.60 {0 WRIFE. WES. BEHRIEW RFHHER40000min
~SR8-90, 120 22 | 8 4 10 90,120 3.50,3.60 HSK-GSK 71fA
-SR10-90, 120 24 10 6 26 90,120 3.80,4.0 - - =
~SR12-90, 120 26 12 8 | 32 90,120 3.95,4.05 B RIFHE = e LES
—Spq 4 90 120 28 14 | 20 38 90’1 20 4101430 Specification C L |2 Clamping range MAX.min—1 suitable Collet
-SR16-90, 120 30 | 16 99 38 90,120 4.15,4.40 m -SK10-60/75 27.5 | 60/75 | 25/40 1.75~10.0 40,000 | SK10
-SR18-95, 120 32 18 24 40 90,120 4.80,5.10 -SK16-80 | 40.0 | 80 | 45 2. T9=16.10 30,000 SK16
e I T oL =2 2:23:2:53 T -SK10-108/150 | 27.5 | 105/150 | 63/108 | 1.75~10.0 30,000 |  sK10
- ’ . — —— -SK16-120/150 | 40.0 | 120/150 | 78/108 | 2.75~16.0 25,000 |  SK16
Y¥en/ Feature ##Ef./ Feature
L RS B HOKN: e S, o . RRBTE, NERES. 2 BTNEDEE, BERMIEERE.
1. Strong torque power . 2. High concentricity and run-out accuracy, suitable for fine finishing machining . 1‘ Pre-balanced for high precision. 2. Stable run-out accuracy to enhance fine machining surface roughness.
O®IPAGE 35 O®|PAGE 36




OO HRE OO HRE

PRECISON MILLING HOLDER #8318

PRECISON MILLING HOLDER #td3zi%E

-+ L1 B
-4 L4 -
30° L3 .
A : A
= . | | i A ~ : 1
Figt - T~~~ qoloao ey
sl B s s (
J | v, L2min »
" L2max
) i N
L4
+— ] 13 i
L1 \ £ E\ —~ y
I i. L4 ! = LN W —— /
\eH L3 > o 1 |D1T !
- )l.i_‘ ] ‘ 3 Figo r T D2|D3|D4
_ _@___ﬁﬂ____fﬁ m— Y Y Y I BEREN HSK40A/50A/63A/100A-HM HYDRAULIC CHUCK
1 = IH__L’“:“ IE'-";::-:':'"::--:-.—::?—'— | N L2mi " N7l (=5
HNIE iy pimeat 2 L HSK40A/50A/63A/100A-HM % E 7147
) J\ oV | L2min " ﬂ?ﬁ
o EmEx Specificaton | D1 | D2 | D3 | D4 | L1 | L2max L2min V 13 | L4 G Type
HSK40E/50E—-HM HYDRAULIC CHUCK HM6-70 6 25 28 34 70 315 275 10 28 50 M5X0.8 -ig”
HSK40E 50E_HM :—-—Eﬂ*ﬁ HM8-70 8 27 | 30 | 34 | 70 37.5 21.5 10 | 28 [ 90 | M5X0.8 -ig”
/ L iM10-75 | 10 | 29 | 32 | 34 [ 75 | 425 | 325 | 10 |34 | 55 | msX08 | Fig-
BUSiR HM12-85 12 31 34 34 85 47.5 37.5 10 = 65 M6X1.0 Fig’
TR Hv6-75 6 | 25 [ 28 | 34 [ 75 [ 375 275| 10 | 28 | 55 | Mmsx08 Ma-70 | 8 | 27 | 30 | 40 | 70 | 375 | 275 | 10 | 28 | 44 | mex10 | Fig
e | _te _J_S1_|_=¢ | ot L Ee_L 628 | SR8 LM |- __|_Eu | WEdEe HM14-85 | 14 | 33 | 36 | 40 [ 85 | 475 | 375 [ 10 | 44 | 59 | mex1.0 | Fig’
BEE  HmE-70 6 [ 25 [ 28 | 40 | 70 [375| 275 10 | 28 | 44 | m5X0.8 M16-90 | 16 | 35 | 38 | 60 | 90 | 525 | 425 | 10 | 30 | 64 | Mex1.0 | Fig2
HM8-70 3 27 30 | 40 70 37.5 21.5 10 28 44 M6X1.0 HIM18=90 18 38 41 _ 90 52 5 42 5 10 ] 64 MBX1 .0 Sig”
HM16-90 16 3D 38 60 90 52.5 42.5 10 30 64 M6X1.0 HM8=70 3 27 30 50 70 37 5 27 5 10 24 44 | MeX1.0 Cig”
- 1 | S8 | = | - W | ] wal B J - | % | sae HM10-80 | 10 | 29 | 32 [ 50 [ 80 | 425 | 325 | 10 [ 35 | 54 | MeX1.0 | Fig’
!F#%S/Feature HM12-85 12 51 34 o0 85 47.5 LTy 0 40 59 M6X1.0 -ig
A HM14-85 14 33 36 | 90 385 47.5 37.5 10 40 | 59 M6X1.0 -1g”
2 BAILES, SBE, BASEBEMI., HM16-90 16 35 38 | o0 90 525 42.5 10 46 64 M8X1.0 :Ig‘
1. Strong torque power . HM18-90 18 [ 38 | 41 | 30 | 90 52D 42.5 10 | 47 64 M8X1.0 -9
2. High concentricity and run-out accuracy, suitable for fine finishing machining . LIM20-90 20 40 43 50 90 595 42 5 10 A8 64 M8X1.0 Cig”
HM25-120 | 25 40 43 63 120 | 61 51 10 59 94 M16X1.0 Fig2
HM32-125 | 32 53 of Fis 128 ] 65 55 10 63 99 M16X1.0 -ig2
HM6-75 6 25 28 | 54 is 365 27.5 10 26 46 M5XO0.8 -ig”
HM8-75 8 27 30 o4 75 37.5 27.5 10 26 46 M6X1.0 -9~
HM10-90 10 29 32 30 | 90 42.5 32.5 10 42 61 M6X1.0 ~ig”
HM12-95 12 31 34 | 50 95 47.5 37.5 10 47 | 66 M6X1.0 g’
HM14-95 14 33 36 50 95 47.5 37.5 10 47 66 _ M6X1.0 -ig”
AM16-100 | 16 35 38 o0 100 525 42.5 10 b3 71 M8X1.0 -ig”
M18-100 | 18 38 41 50 100 | 52.5 42.5 10 D3 71 M8X1.0 -ig”
AM20-105 | 20 40 43 50 1085 | 825 42.5 10 59 4s! M8X1.0 -ig”
HM25-110 | 25 40 43 63 110 | 61 51 10 62 81 | M8X1.0 -ig”
HM32-110 | 32 53 af Fiés 110 | 65 95 10 62 81 M8X1.0 -1g”
O®)|PAGE 38




OO HRE

PRECISON MILLING HOLDER #8318

HSK-SDC HIGH PRECISION TOOL HOLDE =
HSK-SDC 537z 71TR -
B 55
Specification D L G Weight(KG)
m_ ~SDC6-100 3.0-6.0 100 14.5 0.8
~SDC6-150 3.0-6.0 150 14.5 1.0
-SDC8-100 3.0-10.0 100 22 1.0
-SDC8-150 3.0-10.0 150 97 1.2
-SDC12-100 3.0-12.0 100 34 1.0
~SDC12-150 3.0-12.0 150 34 1.2
~SDC6-100 3.0-6.0 100 14.5 0.9
-SDC6-150 3.0-6.0 150 14.5 1.2
-SDC8-100 3.0-10.0 100 22 1.0
~SDC8-150 3.0-10.0 150 22 1.3
-SDC12-100 3.0-12.0 100 34 1.2
~SDC12-150 3.0-12.0 150 34 1.6
I R c=
g
1 5
] o _h | et [D N
L
ISK—-FMB FACE MILLING ARBOR r 5 *
HSK-FMB mE#t 71k
BUSIR s SHETAZRS
Specification D L H C C1 W Drive key Lock bolt
~-FMB27-55 27 | 55 20 60 | 33 | 95 FW5 FM12
~FMB22-60 22 | 60 18 | 45
~FMB27-65 27 | 65 20 60 33 | 95 FW5 FM12
~FMB32-75 32 | 75 22 85 | 40 | 12.7 FW13 FM16
m ~FMB22-60 22 | 60 | 18 | 45
~ -FMB27-65 27 | 65 20 60 33 | 95 FW5 FM12
~-FMB32-75 32 | 75 22 85 | 40 | 12.7 FW13 FM16
~FMB40-75 40 | 75 | 34 | 80 [ 50 | 15.9 FW19 FM20
~FMB60-75 60 | 75 | 36 | 100 | 65 | 19 FW24 FM24

!F#/ Feature - -'

2. BEMEFEE, RN IXERBE,

1. 7IWWBES.

1. High precision. 2. Stable run-out accuracy to enhance fine machining surface roughness.

O®)|PAGE 39

PRECISON MILLING HOLDER #td3zi%E

e

AU

Specification
-SLA6-80
-SLA8-80
-SLA10-80
-SLA12-80
-SLA16-80
-SLA20-80

D

6

38
0
2
6

20

-SLA25-115 25
—SLA32-120 32

e ﬁ/ Feature

1. 7IFBEE-
2. BENEFHRE, i

1. High precision.

2. Stable run-out accuracy to enhance fine machining surface roughness.

EERINIEREBE.

L

80
80
80
30
80
80
119
120

25
28
35
42
48
82
65
72

O®|PAGE 40

OO HRE

HSK-SLA WELDON TOOL HOLDER
HSK-SLA 8] 7]1%

18
18
20
22.9
24
25
25 24
28 24

H1
25
30
42
46
52
92
70
75

M6
M8
M10
M12
M14
M16
M18
M20




OO HRE

PRECISON MILLING HOLDER #8318

ISK-APU DRILL CHUCK HOLDER F‘ & n =
HSK-APU &3 88 7] 1R —
ABR D L RIFEE
Specification min max Clamping range
-APU8-118 30.9 118 125 0.3~8
~APU13-135 48 135 | 147 | 1.0~13
~APUS-118 36.5 120 | 127 | 0.3~8
~APU13-135 48 135 147 | 1.0~13
-APU8-130 30,5 130 | = [ 1).2~8
~APU13-145 48 145 [ 157 | 1.0~13

tx Bt/ Feature

. J1TRFE
. RENEIRE,

N = ) —

T

2 [38] o

High precision.
Stable run-out accuracy to enhance fine machining surface roughness.

RS EMIEEEE,

O®|PAGE 41

PRECISON MILLING HOLDER #td3zi%E

SR
CL 4 Aan
AN
BER

Specification D1 C L1
~-C20-110 20 | 53 66.5
~C20-110 20 53 66.5
-C25-110 25 74 74.5
—C20-110 | 20 | 53 66.5
-C25-110 | 25 [ 60 | 85
-C32-105 32 74 90
~-C32-130 32 74 70
—20-110 [ 20 | 53 75
-C25-110 | 25 | 60 85
-C32-130 | 322 | 74 | 90

@ Cllz\e =¥y

POWERC

55

60
44
49
59
64
44
49
59
64

JUCK TOOL
HSK(A)-Cs& /181 7]

OO HRE

5P
Collet
C20
C20
C25
20
25

C32
C32

C20
C25
C32

IOLDER




O HRE

d1

PRECISON MILLING HOLDER #8318

} = N
0 4 i 7 5 T T 0 T . 7 'Zﬁb
cI - 1= e

L2

ER EXTENSION HOLDER

ER ZE R #T
BSHR

Specification

1-100

-ER16-200
-ER20-100
-ER20-150
~-ER11-100
1-150
1-200
16-100
16—150
16-200
-ER20-100
-ER20-150
—ER20-200
~-ER25-100
-ER25-150
-ER16-100
~-ER16-150
~-ER16-200
~ER20-100
~ER20-150
~ER20-200
-ER25-100
-ER25-150
—~ER25-200
—~-ER32-100
-ER32-150
~ER32-200
@ ~ER20-150

~ER20-200

~-ER25-150

—~ER25-200

~-ER32-150

~ER32-200

I
[Tl
A AU A

4 BE/Feature

1. REBES. 2.

I FEilE
Clamping range

2.0~1

3.0~=10

3-0~13

2.0~7

3.0~10

3.0=13

3.0=180

3.0~10

3.0~13

3.0~16

3.0=20

3:0~13
3-0~16

3.0~20

1. Tool body is high precision.
2. High concentricity, stable run-out accuracy to enhance fine machining surface roughness.
3. Finish surface with long durability.

19

28

34

19

28

34

42

28

34

42

50

34

42

50

16

16

20

20

20

20

25

25

25

25

32

32

o2

L1

24.0
24.0
16.6
16.6
16.6
39.0
35.0
39.0
40.0
40.0
16.6
16.6
16.6
35.0
35.0
35.0
40.0
40.0

40.0

47.0
47.0
35.0
35.0
40.0

- 40.0

40.0
40.0
47.0
47.0
47.0
50.0
50.0
50.0

40.0

40.0
47.0
47.0
50.0
50.0

50
100
50
100
150
100
150
200
100
150
100
150
200
100
150
200
100
150
200
100
150
100
150
200
100
150
200
100
150
200
100
150
200
150
200
150
200
150
200

O®|PAGE 43

A'H
Nut

ER11A

ER16A

ER20A

ER11A

ER16A

ER20A

ER25UM

ER16A

ER20A

ER25UM

ER32UM

ER20A

ER25UM

ER32UM

SRS
Collet

ER11

ER16

ER20

ERT

ER16

ER20

ER25

ER16

ER20

ERZ5

ER32

ERZ20

ER25

ER32

ILES, BENEEIRE, REBNIRERFE. 3. RELRSE, ME,

RF

Spanner

0.55

1:€5

1.2

1.6

1.65

&5

3-9

3.9

1.65

3.15

1.65

3.15

4.0

2.99%

PRECISON MILLING HOLDER #td3zi%E

BUR

Specification L
m ~ER8-100M 115.5
~-ER8-150M 165.5
m ~ER11-100M 124
~ER11-150 174
m ~-ER16-100M 135
~-ER16—150M 185
~ER16-200M 235
m ~-ER16-100M 135
~ER16-150M 185
~ER16-200M 235
~-ER20-100M 140
~ER20-150M 190
~ER20-200M 240
@ ~ER25-100UM 145
~ER25-150UM 295
m ~ER25-100UM 145
~ER25-150UM 195
~ER32-100UM 150
~ER32-150UM 200
~ER32-200UM 250

L2
100
150
100
150
100
150
200
100
150
200
100
150
200
100
150
100
150

100
150
200

L1

15-5

24

35

40

45

50

R = Size

16

2z

28

42

50

d1l

i

1////7/////7322

IO B RS p mLlA

@

ER ZE=+F (AZY - EHKH)

w«;

>
2X

ER EXTENSION HOLDER
ER ZER#F (M/UMZY)

REFEiE
d1 Clamping range
10 0.5~5.0
12 1.0~7.0
16
1.0~10.0
20
20 1.0=138.0
25
2.0~16.0
32
32 3.0~20.0
v Bk EH5 u mLEAAR
e e —— i _ - = £
« L2 > L1 |%
a L :
ER EXTENSION HOLDER

Gl R = Size
Specification L L2 | a D d
-ER16-70A/100A 100/130 70/130 30 19 28 20
-ER20-70A/100A 100/130 19 34 20
10130 30
-ER20-70A/100A 100/130 24 25
-ER11-70A/100A 100/130 19 20
7
-ER11-70A/100A 100/130 Ll il 29 L 25
-ER16—-70M/100M 100/130 70/130 30 19 22 20
-ER20-70M/1 ? : 2
0—-70M/100M 00/130 20/130 30 19 )8 0
-ER20-70M/100M 100/130 24 25

3 ﬁ/ Feature

1. AERBES. 2. AVES, RENETRE, REBNIRERE. 3. REAXREFE, WE.

1. Tool body is high precision.
3. Finish surface with long durability.

O®|PAGE 44

2. High concentricity, stable run-out accuracy to enhance fine machining surface roughness.




OO HRE OO HRE

PRECISON MILLING HOLDER #td3zi%E

PRECISON MILLING HOLDER #8318

i
Ao
- e, B
N
4 i’
=l Eem LA ER E% | p | L |rance
v | % x _L ' 2 " Specification
oo ;{' %é\ ER8 | 85135 05
) £ | ER11 [11.5] 18 | 0.5
L - - - a ER16 | 17 |27.5] 1.0
e — - ER20 | 21 |31.5] 1.0
Y 5 — | ER25 | 26| 34| 1.0
: " ER32 | 3340 1.0
B sl ﬁ DOSMM """"""" J Ig SR FITGH PRECISION COLLET « L > - ER40 | 411 46| 1.0
SK %"% ER HIGH PRECISION COLLET
M FSEE M FAEE M SR ER 55 {4 F5R B | RHHE M | SHEHE B | RAHE
Specification | Clampingrange Specification | Clampingrange Specification | Clamping range Specification | Clamping range Specification | Clamping range Speciiication | Clamping range
0.8 0.75~0.8 Si1e [ 2.75-3.0 ‘sion [ 25-30 ] o | o5 10 | 0510 [t) 45 | 880
- 0.9-1.0 —3:5 3.0-3.5 ~4 3.5~4.0 : . ' b ' =L ' L
— 25 1 15__; 25 _4 35__40 _5 45__50 D = 41&5“ 1 5 1 0"'1 5 30 20"""30 30 20"'30
—1.5 1.8~4 5 45 4.0~4.5 B 5.5~6.0 2 2.0 1.9~2.0 4.0 3.0~4.0 4.0 3.0~4.0
-1.75 1.55~1.75 -5 45~5.0 -7 6.5~7.0 foo oo F 55 2.5 2.0~2.5 5.0 4.0~5.0 5.0 4.0~5.0
—9 18~-20 55 5.0~5.5 -8 7 5~8.0 — ] 3.0 2.9-340 6.0 5.0~6.0 6.0 9.0~6.0
= (5~ 95 = 5 5-6.0 -9 85-9.0 Y5 o e £ 8 3.0-35 7.0 6.0~7.0 7.0 6.0~7.0
25 2.3~25 6.5 6.0~6.5 -10 9.5-10.0 - 4.0 3.5~4.0 8.0 7.0~8.0
275 285215 —7 6.5~7.0 il 10.5~11.0 AAR ] 0005 | 001 4.5 4.0~4.5 9.0 8.0~9.0
-3 2.8~3.0 75 7.0~7.5 —12 11.5~12.0 R | nou | G 5.0 4.5-5.0 10.0 [ 9.0~10.0
=3 3.0-3.5 -8 7.5~8.0 =13 12.5~13.0
—4 3.5=4.0) —8.5 8.0~8.5 —14 13.5~14.0
—4.5 4.0~4.5 -9 8.5~9.0 =19 14.5~15.0
—9 4.5~5.0 —9.5 9.0~9.5 —16 15.5~16.0 AU 3% KIFEE] 2 5% KIFEiE] B 5% KIFEE B 5% KIFEE]
—5.D _ 5.0-9.5 — 1) | 9.5~10.0 =15 17.5~18.0 Specification | Clampingrange Specification | Clamping range Specification | Clampingrange Specification | Clamping range
= il 88 L 108 -l Ll 7] 1o [os-1o PR 20 [T1o-20  [FET 20 [ 10-20 [T 20 [ 1.0~2.0
2 1.75~-2.0 ~11 10.5~11.0 —20 19000 20 | 1.0~2.0 30 | 2.0~30 30 | 2.0~30 30 | 2.0~3.0
225 2.0~2.25 -11.5 11.0~115 30 | 2.0~3.0 40 | 3.0-4.0 40 | 3.0~4.0 40 | 3.0~40
—2.5 2.25~25 -12 11.5~12.0 4.0 3.0~4.0 50 | 4.0~50 5.0 40~5.0 50 | 4.0~5.0
240 25275 1.5 12.0~125 50 4.0~5.0 6.0 5.0~-6.0 6.0 5.0~6.0 6.0 5.0~-6.0
-3 2.(5~3.0 | | -13 12.5~13.0 6.0 5.0~6.0 7.0 6.0~7.0 7l 06.0~7.0 74 0.0~7.0
5.5 a0=3.5 -13.5 13.0~13.5 7.0 6.0~7.0 8.0 71.0-80 8.0 7.0~8.0 8.0 7.0~8.0
—4 3.9-4.0 -14 13.5~14.0 3.0 7.0~8.0 90 | 8.0~9.0 9.0 38.0~9.0 90 | 6.0~-9.0
~4.5 4.0~4.5 —14.5 14.0~14.5 9.0 8.0~9.0 10.0 9.0~10.0 10.0 9.0~10.0 10.0 9.0~10.0
5 45~5.0 15 | 145-150 10.0 | 9.0~10.0 11.0 | 10.0~11.0 110 | 10.0~11.0 11.0 | 10.0~11.0
—5.0 5.0~-5.5 —15.b 15.0~15.5 11.0 10.0=11.0 12.0 11.0-12.0 12.0 11.0-12.0 12.0 11.0~12.0
-6 59.9~6.0 -16 15.5-16.0 12.0 ‘ 11.0~12.0 13.0 | 12.0~13.0 13.0 12.0~13.0 13.0 | 12.0~13.0
—6.5 6.0~6.5 13.0 | 12.0~13.0 14.0 | 13.0~14.0 140 | 13.0~14.0 14.0 | 13.0~14.0
7 6.5~7.0 7 g 150 | 14.0~15.0 150 | 14.0~15.0 150 | 14.0~15.0
= Lisds Specification ‘ A - o - 16.0 | 15.0~16.0 16.0 | 15.0~16.0 16.0 | 15.0~16.0
o5 | soss SK6 104 | 75 | 25 | 38 | 174 LR |- 48 7.0 | 16.0-17.0
-9 8.5~9.0 =4l 15.5 12 | 305 50 | 21.3 180 | 17.0~18.0 18.0 | 17.0~18.0
05 9.0~9 5 SK16 24.6 18.8 45 8.0 32 *%Eﬁ/'z " 19.0 18.0~19.0 9.0 18.0~19.0
10 05100 SK20 29 225 54 8.0 46 T &p/ Feature 20.0 | 19.0~20.0 200 | 19.0~20.0
FEBE Fent — 1. BEE, miEha. ;;‘8 gg'gzg'g
=F: ealure 2. BENEIREE, REBMNIXxEBE. 23'0 22'0___23'0
1. SfE, mFhdE, 2. BEMNEEHEE, REBENIRERBE. 3. REAXZFTFE, WE 3. RMENREFE, MW, 24'0 23'0~24'0
1. High precision with powerful clamping force. 1. High precision with powerful clamping force. 250 | 24.0-25.
2. Stable run-out accuracy to enhance fine machining surface roughness. 2. Stable run-outaccuracy to enhance fine machining surface roughness. ' 24.0~25.0
3. Finish surface with long durability. 3. Finish surface with long durability. 26.0 25.0~26.0
O®|PAGE 45 O®|PAGE 46




OO HRE

PRECISON MILLING HOLDER #8318

M A
[ NN
& = - -I » EI N
- 9 v * = HENFEE (MAX.mm)
, 11 5 = & RED | MEEER
- : - ma | oos | oo C POWER CHUCK COLLET
Vovaw
o 1 E R
il R = Size
Specification D d2 L |1
3.45.6.810,12.16 20 25 52.5 49
 6,8,10,125,16,20 25 30 59 56
m 6.8,10,12.16,20,25.15,19,24 32 37.5 65 67.4
 114,5/16,3/8,1/2,3/4,5/8,1" 25 37.5 65 67.4
[T7]  68101216202532151924 | 42 47 80 76
1/4.5/16,3/8,1/2.5/8,3/4,1" 42 47 80 76

tEBE/Feature

WD W N —

. SfEE, xS,
. BENEFBE,

T = 46 1

. REEREEFE, W

REFE

High precision with powerful clamping force.
Stable run-out accuracy to enhance fine machining surface roughness.
Finish surface with long durability.

O®| PAGE 47

PRECISON MILLING HOLDER #td3zi%E

ER-1Z1E A ER-Z1IE M ER-#Z1E§ UM GSKSIRIZNE ISOBLERE IRIZ T
wﬁ B Jﬁm * ¥ T”’]’f "‘ | ‘Tﬁﬁ_
M
= 1 IM:.. | : {._ a) T - M‘[ ‘ - I LI 4
- ol T |
HIGH PRECISION CLAMPING NUT
) 'im =1
A2
Al 55 —_
Specification D L M iﬁ% IF
ER11A 19 11.5 M14X0.75 ER11A
ER16A 28 12 M22X1.5 ER16A
ER20A 34 19.0 M25X1.5 ER20A
ER8M 12 10.8 M10X0.75 ERSM
ER11M 16 .I 12.0 M13X0.75 ER11M
HER16M 22 18 M19X1.0 ER16M
ER20M 28 19.0 M24X1.0 ER20M
ER25M 35 20.0 M30X1.0 ER25M
HER25UM 42 20.0 M32X1.5 ER25U M
HER32UM 50 23 M40X1.5 ER32UM
ER40UM 63 __ 26 M50X1.5 ER40UM
ig Eﬁ. 1]s —
Specification D L M ié%% fﬁ":-
GER16 30 247 TM22X1.5 GER16
GER20 35 | 25.5 TM26X1.5 GER20
GER25 40 | 25.9 TM32X1.5 GER25
GER32 48 26.6 TM40X1.5 GER32
GER11MINI 16 | 11.3 114X0.75 GER11MINI
GER16MIN 22 20.5 M19X1.0 GER16MIN
GER20MINI 30 ‘ 21.8 M24X1.0 GER20MINI
GER25MIN 35 | 220 M30X1.0 GER25MIN
7 % = =
Specification D L M ﬁﬁ% Eliﬁ"-:-
m ER11MS 16 11.3 M13X0.75 ER11MS
ER16MS 22 17 M19X1.0 ER16MS
ER20MS 28 19 M24X1.0 ER20MS
ER25MS 35 23 M30X1.0 ER25MS

rX 8L/ Feature

1
2
3.
1
2,
3.

BN REEER]

. REXREESE, ot

o

ATATREREN T EREE, REKE.

. Thermal treatment process improve the clamping precision and stability.
Finish surface with long durability.

Pre-balanced is G2.5 25000rpm for enhanced run-out accuracy.

LR FFIRRE T o

O®|PAGE 48




OO HRE

PRECISON MILLING HOLDER #8318

PRECISON MILLING HOLDER #td3zi%E

FITTING B4

C/OZERF

ERZE R F

ERERFUM

53 SPANNER

B 3

Specification

ERE R 3

GER/GC/GSK&z=

L

ISOZLR =

n C20 50-55 245 0.17
C25 56—61 270 0.2
C32 68-73 290 0.3
m_ C42 88-96 340 0.42
| 0Z25 55-60 250 0.24
2 5% 55
Specification A - (KGS)
IEII ER11A 17.2 120 0.10
_ ER16A 25.2 140 0.15
ER20A 30.3 160 0.19
m ER3SM 12 5 0.05
ER11M 16 95 0.04
ER16M 22 117 0.06
ER20M 28 129 0.07
EFR25M 35 142 0.09
m ER25UM 42 210 0.15
EFR32UM 50 250 0.28
ER40UM 64 290 0.42
B 5% B8
Specification A L (KGS)
@ GER16,GER16MIN 30,27 150 0.24
GER20,GER20MIN 35.30 160 0.30
GER25,GER25MINI 40,35 180 0.35
m GER32 48 180 0.70
| GSK6 19.5 110 0.11
GSK10 27 150 0.29
GSK16 40 170 0.39
GSK?20 48 210 0.38
2 5% 58
Specification A L (KGS)
m, S020 18.2 175 0.11
. 1SO25 2F 175 0.12
S0O30 | 40 | 220 | 0.15
4 BE/Feature
1. BREBENRSHBEREKRIFIEEN. 2. RAXBZELTFE, mE.

1. Thermal treatment process improve the clamping precision and stability.
2. Finish surface with long durability.

O®|PAGE 49

E an & s
product name

v - WAL e
Z—axis Electro—
optical Zero Setter

FEon &8
product name

ERIVZEET E RS
/—axis Scale Zero

Setter(magnetic)

FE i 2 i

product name

F ahrel i
Spindle Test Bar

E e
product name

=RHERE

Modular Concentricity
Test Gauge

EmaE
product name

HENFiEEs
Electro—opitical
Edge Finder

EmEiE
product name

=288
Mechanical Edge
Finder(Anti—-Magnetic)

FEmn 2t

product name

Ceramic Edge Finder

(O] PAGE 50

R Rrg
ltem Spec
Electro-
ZOP-50 optical
ol pSELE
ltem Spec
Scale with
ZDI-50 magnetic
2sic g
ltem Len

BT30 200L/250L

BT40 250L/300L/350L
BT50 315L/350/400L

2R Fihs
ltem Spec

BT30 MCT30
BT40 MCT40
BT50 MCT50

ltem | Shank Diameter | Length
EOP-20 220 160
Ao T RE
ltem | Shank Diameter | Length
MOP-10 210 160
ltem Shank Diameter | Length
COP-10 310 160

OO HRE

58
Gauge head

210

58
Gauge head

10

e JEE
Gauge head

210




OO HRE OO HRE

PRECISON MILLING HOLDER #8318 PRECISON MILLING HOLDER |3z E

;lm.«A o | LS FLCIi—
0.C IF Q &
R%?ﬁ R1 e I 1 ;/_G— ry
shimeed /T AN R Q L —
Yo > ™ .\ \ 1
/| cosy|h e Lg)« s N , ' AN
L4, L2 d v
BT PULL STUD I ¥ Y PULL STUD
0.0 1A ! w N « L2 - . o=
) — \ \/ o
BT 14T, 133 1 } | BT40/BT50 MAZAK #Hiff. #ig
RS R = Size il R ~F Size
Specication| L1 | D4 | D5 | D6 | E2 | G2 | 4| L7 | D3 | Gt \ 5[ s | D1|D2 |12 | 13|19 6 Specification L1 L2 D1 D2 D3 D4 D5 W G
30 |43 [12.5[M12] 9.5 [1.75 4 [3ftes] 2 [ 5]13 7 |23 |18 {25] 30 G0 MAzZAK | 441 | 191 | 188 | 1245 | 22 17 7 19 M16
45 43 |12.51M12] 9.5 |1.75 4 | 3 |16.5] 2 b | 13 7 123 ]| 18 | 2.5 45 CYE]  MAZAK 65.2 25 2 29 20.83 36 25 10 30 M24
60 43 |112.5|M12] 9.5 |1.75 4 | 3 |16.5| 2 5 13 7 23 | 18 | 2.5 60 | | | | |
90 43 |12.5|M12] 9.5 |1.75 4 | 3 116.5] 2 5 13 7 23 | 18 | 2.5 90
S| 30 |60 | 17 [m16| 13 | 2 54|23 3|6 |19]|15]|10|35|28| 3| 30
45 |60 | 17 |[m18] 13 | 2 54123 3|6 |19|15[10|35| 28| 3 | 45 y [ o1 , R
60 |60 | 17 |M16] 13 | 2 54233 |6 |[19]|15[10 35|28 | 3 | 60 } RN _l l_ //_1
90 |60 | 17 |M16| 13 | 2 51423 3|6 1915|1035 28 3 [ 90 I e v O _ B ==y
30 |85 |25 |M24l 20| 3 |15 85|38 | 5 |10 302317 |45|35]| 5 | 30 O o o o | f e i 7 e \Xg - D3
45 |85 |25 |m24] 20| 3 |15 85|38 5 |10[30]|23[17]|45|35]| 5 |45 | ] : S R e (15 =
60 85 | 25 [M24]| 20 3 |11 8§15 ] 38 5 10 |1 30 | 23 | 97 | 45 | 35 D 60 = y )
90 | 71|25 |m24| 20| 3 |15 8|53 | 5 |10|30 24|18 31|35 5 | 90 PPy i | B PULL STUD
90L 85 | 25 |IM24]| 20 3 11,81 8] 5| 38 o 10 | 30 | 283 | 17 | 45 | 35 5 | 90 ) - g 3 5 g - 5
: Fig. 1 Fig.2 DIN69872A/B i‘!.ﬂ:w. ETF_‘LE'-E
A1 0.01 A ':ﬁ- = e Rz B R =~F Size
. % 8 N I Specification Fig L 14 D D1 D2 03 D4 -
Ay TV a1 g / . Y DING9872A-P16D A 54 26 19 14 17 93 20 7.5
gl ______ EIE[ _ g____ﬁ%al 3, DIN69872A-P24D A 74 34 28 21 25 36 25 | 11.5
- | — | DIN69872B—-P16D B 57 260 19 14 17 23 20 —
] eI e B = DIN69872B-P16D B 74 34 28 21 25 36 25 .
lLZLLA L L2 ,\ |
45 L1 L
L,’ 0.01 |A
D1 D2 —GC D1 ——D2 /—G
BT PULL STUD WITH COOLANT HOLE T _l i 7/ T l _ _l R
BT $i#F. HEReR Ok [ v AL |
i ey 1 i i T O3 R 0 s | e I e i
B R = Size T """ VA H I |
Snecification 11| D4 | D5 | D6| E2 | G2 | L4 | L7 | D3 \ G1| 5| s ] D1|D2| 12| 3|19 | o - L : el t :
, .
30 COOLANT |43 |12.5|M12] 9.5|1.75 4| 316,512 | 5 (13 7 |23|18]2.5| 30 - e L PULL STUD
45 COOLANT |43 |12.5|M12] 9.5[1.75 4| 3 116,512 | 5|13 7 |23]| 18 |2.5| 45 ) | " ) | " N e
60 COOLANT | 43 |12.5|m12[ 9.5|1.75 4| 3652|513 7 | 23| 18 |2.5] 60 gl L DIN69872A/B #i#F. #iE
90 COOLANT |43 |12.5|M12| 9.5|1.75 4 | 3 116.85]| 2 o | 1= 7 |23]| 18 |2:58] 90
30 COOLANT |60 |17 [M16] 13| 2 542336 ]|19]|15]|10]|35]|28( 3 |30 BUH: B R = Siee
45 COOLANT |60 | 17 |[M16] 13| 2 5| 423 |3|6]|19]|15]10]|35[28] 3 |45 Spedification Fig L D D1 | o2 | b3 T G
60 COOLANT |60 ]| 17 M:G :3 2 b l4 |23 | 3 6 :9 :5 :0 35128]| 3 | 60 S07388/2A-P16D A 54 19 14 17 99 7.5 M16
90 COOLANT |60 | 17 .M 6| 13| 2 o | 4 | 23 | 3 6 9 5 0135128 3 |90 S0O7388/2A-P24D A 74 28 21 25 36 11.5 M24
m 30 COOLANT (85|25 |M24| 20| 3 [1.5| 8 | 5|38 | 5 [10[30|23(17|45]|35| 5 |30 T - aid | a8 | 18 2 il & 36 rer
60 COOLANT | 85125 |M24]| 20 3 |1.5]1 8 | 5|38 | 5 |110]130|123]17145]|35| 5 |60 ' | | | '
Q0 COOLANT | 711 25 [M24| 20| 3 |1.5] 8 | 5| 36 | 5 110130124118 31| 35| 5 | 90
90L COOLANT | 85| 25 [M24| 20| 3 |1.5| 8 [ 5 [38 [ 5 [10]30|23[17[45]|35]| 5 [ 90 HEBE Foature
#: 8L/ Feature 1. BEEAXIREBEERERIEEEM, 2. REARESE, .
1. MEEENIREREREXRFEEN. 2. REXRESE, WE, 1. Thermal treatment process improve the clamping precision and stability.2. Finish surface with long durability.
1. Thermal treatment process improve the clamping precision and stability.2. Finish surface with long durability.




High Precision




OO HRE

OO HRE

TAPPING TOOL HOLDER #tiHII Rk 3FE

TAPPING TOOL HOLDER 8| F3ciEE

TAPPING TOOL HOLDER

IN FAREE & 4

4
) ¢
) |
it
- L = Ga
,'E'.. G12 W
: 5 ._m_, o J

BT NT

JT

B MT MTB A #

PR 51| B2 FL iR 5 TE 73 S AR 1EiE

=FIR

TAPPING TOOL HOLDER

{4aH 1% TR

1. B T TR Aateis
Wi 7)MAS B C B RENMAEERE. SEMILEEE K MR I I8 B RIELS e

giFMEZET. R EAEMREENNERRER.

ODHREBE: BEMRFIRE, ERIECEHEK, BEMREKRELSE.

Q.BABEE: HARIERILAHIETIR, BREEEBIE BRVEKRELE, 1FE5.

2. [RILBU/NGF (R EFNM IR, KILILAHMNIRRERS), HIERERES, EHETH,
EREBIAT, AERAEMEZKNAELGNISS, SHEAEL.

3. BILI%Es, IEFAZzEhis SRRy, THEEE I, FLEERSEAMERT,
b2 EE, ik, REE, FHORELINRENER, 4EFSMEILO0.
EEFAT, FMRTEILRBREIESE.

4. ZBEA TIRANIS S, MBHETEIERS, ZBRESERZEF, W4 TIMEEGHEENAR
ReZEh FF, ILOBSEEAHMD, SEBER, ZEEAGE, N4 TIHREMRAAKEE
T, FMEZ#—iE _EFt,

5. N TIMRINAERMNEIEE, AGEEEREHE, BEEABANHZTREEXER).

1 TENSION AND COMPRESSION TAPER HOLDER

Tension and compression function can prove screw and tap tooth space moving sleekly
and synchronously with machine.lt should be used in the scope of designed tension and
compression.

(D.Over tension

The black mark can be seen atthis time.Please speed ypthe working speed of axis.
(2.over compression

Reduce the moving speed of axis.

2 In case of small hole in taping model,torque protection function makes taps idling.
Don ’ t adjust the torqueinsteadof large one.

s EHIESE

SR TESF1-5mm B4 iEEE
FE—E & FEISET L,

A 10 B

s St i i L e pei)ind LAEIPeS
(R E & [F TR )R EHERIAYE)

1= B fE=

THRHE

B ILRE-B SEEBFZBRIE

A B ] IE 7] 42 1 3Bh

HSEES Meseqmbig 7], QAT EhEEE,

S5 SERYP X T Eh¥EH

O®)|PAGE 55

CO®|PAGE 56

Remarks 3 When blind hole tapping,Z axis programmed with slant depth and under the gyroscopic
force and touch the botlom part,in case of reduce programmed Z axis data instruction.
4 When Z system tapping chuck in use, in other case of orifice touched,please stop the Z point,
tapping chuck run up with Zaxis in the state of elongation.
5 In case of artificial damage or after warranty period, The costfor evaluating and remanding
should be charged.
Fls, = ‘ B
+ R BiE m R AR YIHI RS 2B
p s R BR/INBEHTIE RATUGAIME 4SEITETTIGE 4SENETTIE FTRTIE WAORERRVREE TAARERRVSRME BUASRERAVAEE(E
i N.m N.m (E2E)N.m | (5E)N.m | KW N.m N.m N.m
M5 2.26 3.38 4.52 4.78 0.247 2.28 2.26 4.52
M6 3.29 4.78 5.65 11.3 0.373 4.52 3.39 6.78
M8 | 4.52 9.04 8.48 17 10.373 6.78 5.65 11.8
Y 11.3 22.6 20.3 28.3 | 0.56 14.7 12.4 24.9
M- 1.3 22.6 20.3 33.9 0.746 22.6 20.3 33.9
M~ 22.5 67.8 56.5 90.4 0.93 39.5 39.5 713.4
M16 28.3 67.8 2.9 123 | 0.56 | ol 51 73.4
M20 56.5 13 113 170 1.3 73.4 13.4 107




TAPPING TOOL HOLDER #H|I4 FaziFE TAPPING TOOL HOLDER #H|I4 F3ziFE

s
W
- L |
- L1 " % k. n
L2 5 < L1 >
| BT. “wi _
— | l ; EI MTB.
0 EI_E N R I | _f o4l . - .<_ ) f_ . T H ¢ _ E / .
(| —: o9 ; /
) ! v - S . - e MTA MORSE FLOATING TAPPING HOLDER
BT TENSION AND COMPRESSION TAPPING HOLDER | ORS O G N GHO
BT i 451X F T14R MTA Z K 4RI T T1 1R
il W EE fER il W& 5B
Specification Tapping range L D \ d L l L1 L2 i Collet Specification Tapping range D d d1 D1 L L1 Collet
BT30 G0312 M3-M12 46 19 141 87.6 20 M12 G3 m G0312 M3-M12 46 19 M12 23.825 176 89 G3
BT40 G0312 M3-M12 63 19 153 92.6 25 M16 G3 G1224 M12-M24 66 30 M12 23.825 206 120 512
G1224 M12-M24 63 30 200 | 1346 | 25 M16 G12 m G0312 M3-M12 46 | 19 M16 | 31.267 199 89 G3
BT50 G0312 ” M3—M12 100 19 199 | 97 .2 35 M24 c3 G1224 M12-M24 66 30 - M16 31.267 229 120 G12
61224 M12-M24 | 100 30 | 246 | 1422 | 35 | M24 G12 1B/ Feature
G2442 M24-M42 100 45 276 | 1742 | 35 V24 G24 . EEHMEEHERE, FIARILAEETZR, 2. EFZFENINMHAEIIEE, REFHRITIE,

BEER, W BR, BUESHAKRFEIRS MR 4. WHEE: M3-M24,

Overload protection to avoid breakage of taps.

Floating chuck with tension and compression function, tools can be changed quickly.
Suitable for drilling machine, lathes. Milling machines.

Tapping range: M3-M42.

!F%Eﬁ/ Feature ' ' ' ' '

_I

. EEHEBERE, ATLABILEAHEETR, 2. BEFEENMAETIeE, REFERITIE,
3,. BECNC INIhy, BUESARFERE. 4. WEAEE: M3-M42,

1. Overload protection to avoid breakage of taps.

2. Floating chuck with tension and compression function, tools can be changed quickly.
3. Suitable for CNC machine center,drilling machine, lathes.

4. Tapping range: M3-M42.

N e e

VW < L >
: L1

. “WW
i . EI_%" | V _____ i MTB MORSE TAPPING HOLDER

i ; t = i
ENSION AND CSI\/IPRESSION TAPPING HOLDER WITH STRAIGHT SHANK | ; MTB =1 EE ﬁ F J=' :J:H j] ﬁg 41 If[ =t 7] 1:
BHiRB R4 711R '
- g s L I ﬁ =
il N EE] G J‘E"“"-EE | ﬁ = D d d1 D1 L L1 %

Specification Tapping range D d L L1 D1 Collet Specification Tapping range Collet
50-G0312 M3-M12 46 19 149 89 20 aa G0312 M3-M12 | 46 19 M12 23.825 176 39 G3
100-G0312 M3-M12 46 19 189 89 20 G1224 M12-M24 66 30 M12 23.825 206 120 G12
50-G0312 M3-M12 46 19 149 89 25 G3 “!iii::‘l G0312 M3-M12 46 19 M16 31.267 199 389 G3
i el SRR e i i = =3 G1224 | M12-M24 | 66 30 Lt AL A G12
100-G1224 M12-M24 66 30 220 120 25
100-G1224 I M1 2-M24 I 66 30 220 120 32 | S 3 24/ Feature

—I

ERMEEHRE, FTAMILLAHEER. 2. EFZHNMAEIE, REERIIE,
BEHER, BT, BHIR, BUESURFEIRSRME. 4. WEEE: M3-M24,

Overload protection to avoid breakage of taps.

Floating chuck with tension and compression function, tools can be changed quickly.
Suitable for drilling machine, lathes. Milling machines.

Tapping range: M3-M42.

42 BL/Feature

BEMmEEHRE, FTUARILAHEE R, 2. B FHNMAETIRE, REERTTE,
. BESERBRIMRNSER TR R 4. WHEE: M3-M24,

1
3
1. Overload protection to avoid breakage of taps.

2. Floating chuck with tension and compression function, tools can be changed quickly.
3

4

PR B s

. Suitable for drilling machine, lathes.tapping machines.
. Tapping range: M3-M42.

O®|PAGE 57 O®|PAGE 58




OO HRE

TAPPING TOOL HOLDER 35I| F R IFE

TAPPING TOOL HOLDER #tj|iiF3kiE2

k=1

18mm
5mm

BT RIGID TAPPING TOOL HOLDER i“k:_?__*"_“
BT B4 {R&EIL ZF T] —
Bl B EilE] fE15%
Specification Tapping range D L & L2 T Collet
3kl TER16 M2-M12 46 149 100.6 20 M12 ER16
TER20 M2-M16 46 151 102.6 20 M12 ER20
TER25 M2-M22 46 153 104.6 20 M12 ER25
~ TER32 M2-M30 46 156 107.6 20 M12 FR32
TER16 M2-M12 63 161 95.6 25 M16 ER16
~ TER20 M2-M16 63 163 97.6 | 25 M16 ER20
TER25 M2-M22 63 165 99.6 25 M16 ER25
TER32 M2-M30 63 168 102.6 25 M16 FR32
TER16 M2-M12 100 207 105.2 35 M24 ER16
TER20 M2-M16 100 209 107.2 | 35 M24 ER20
TER25 M2-M22 100 211 109.2 35 M24 ER25
TER32 M2-M30 | 100 | 214 | 1122 | 35 | M24 ER32
(= Qumm
B4 T B4R 0 T ohls T S BN R R KR f = 3
S F IR (E FERRISE, SeIFMEE. &A1 E A, =
PL B IS R IE IR r

. The rigidity design ensures precision synchronization between spindle rotation and cutting feed.
. ER collet can be used for gripping drill bits,reaming cutters and milling cutters.
. Do not lock the clamping nut too tight in order to avoid damage.

1
2,
3. fEMHEFIRIEE 7718 EREE,
1
2
3

O®)|PAGE 59

: B _, "
JA8mm
Smmr
, ) =
51| VR R i e 25
AR INSFEp[E
Specification Tapping range
50/100-TER16 M2-M12
50/100-TER20 M2-M16
50/100-TER25 M2-M22
50/100-TER32 M2-M30
E' 50/100-TER16 M2-M12
50/100-TER20 M2-M16
50/100-TER25 M2-M22
50/100-TER32 M2-M30

RIGID TAPPING TOOL HOLDER WI
=k
D L L1
46 147/197 97
46 149/199 99
46 161/201 101
46 164/204 104
46 147/197 97
46 149/199 99
46 161/201 101
46 164/204 104

txBE/Feature

1.
2,
3.
1
2
3

[l 14 Th BE B R 1R T HR (s 3

R ELEIIE

SE 14 I ZF 71 #R A {E FHE RS
& FHFFEENESE

AR

145

S, HEFHER. RIIMB{IIFTIR,
F7ZIREHEE, MRIEMIER,
. The rigidity design ensures precision synchronization between spindle rotation and cutting feed.
. ER collet can be used for gripping drill bits,reaming cutters and milling cutters.
. Do not lock the clamping nut too tight in order to avoid damage.

O®|PAGE 60

‘HSTRAIGHT SHANK

[ {RHET ST T4

G

D1 Collet

20 ER16

20 ERZ20

20 ERZ25

20 ER32

29 ER16

25 ER20

2D ERZ5

25 ER32

a
¥ @ 0.03-0.05

e

——

[

e




TAPPING TOOL HOLDER #H|I4 FaziFE TAPPING TOOL HOLDER #H|I4 F3ziFE

- L & -+ L >
% L1 N « L1 >
t8mm 8mm
. EI MTA. o EI MTB.
(e /4 b (T /4 |
MTA MORSE RIGID TAPPING TOOL HOLDER a "I— o= === J/ o EI OAlFH---+--- / ------ = MTB MORSE RIGID TAPPING TOOL HOLDER
S RERTMER4aI T 7R r — o f S RERE A S T1TR
RIS TR S RS W EE] 5B
Specification Tapping range D L L1 D1 Collet Specification Tapping range D d1 D1 j L1 Collet
'V TER16 M2-M12 46 177 97 17.78 ER16 MTBIIREAL M2-M12 46 M1 2 23.825 176 89 ER16
TER20 M2-M16 50 198 99 23.825 ER20 TER20 M2-M24 46 M12 23.825 206 120 ER20
TER25 M2-M22 46 181 101 17.78 ER25 TER25 M2-M22 46 M1 2 23.825 176 89 ER25
MTAS IR M2-M12 50 196 97 23.825 ER16 TER32 M2-M30 46 M12 23.825 206 120 FR32
TER20 M2-M16 50 198 99 23.825 ER20 VTBA s M2-M12 46 M16 31.267 199 89 ER16
TER25 M2-M22 50 200 101 23.825 ER25  TER20 M2-M24 46 M16 31.267 229 120 ER20
TER32 M2-M30 50 203 104 23.825 ER32 TER25 M2-M22 46 M16 31.267 199 89 ER25
T TER16 M2-M12 66 221 97 31.267 ER16 TER32 M2-M30 46 M16 31.267 | 229 120 FR32
TER20 M2-M16 66 223 99 31.267 ER20 4Bt/ Feature " " - e
TER25 M2-M22 66 225 101 31.267 ER25 rrr—————TT—r———r—T—ry { S
| ER32 M2=-M30 66 228 104 31.267 S ST IR {E HERRE 3, HKiFHEEA. SRTIME}TNETIE, =
S TER32 M2-M30 66 260 104 44.339 ER32 i y

. The rigidity design ensures precision synchronization between spindle rotation and cutting feed.

"
2.
3. ERFBIEEZIBEEE, UREMIBER,
1
2
3

4:# Eﬁ/ Feature /:_—,\ @ 0.03-0.05

. ERcollet can be used for gripping drill bits,reaming cutters and milling cutters.
. Do not lock the clamping nut too tight in order to avoid damage.
B4 Th AL TR 4R 0 T ohl EES B Fl R A ST FI S . <
SEMEIL S IR (E FERME K, FISHEEE. SNMHENENA, _ >
SBREHE, LS RIBE. n—F y

. The rigidity design ensures precision synchronization between spindle rotation and cutting feed.
. ER collet can be used for gripping drill bits,reaming cutters and milling cutters.
. Do not lock the clamping nut too tight in order to avoid damage.

1
8
3. {EFHFIEIEEE
1
P
3

O®)| PAGE 61 (O PAGE 62




OO HRE OO HRE

TAPPING TOOL HOLDER #H|I4 FaziFE TAPPING TOOL HOLDER #H|I4 FaciFE

- 55 L
! F- s
\I} ¥ | L J
l g Do i
1) - ||
-4 61 ] L
‘ 3 T
ol o N ey 0 % | i o ~
: l E AR e U = G3 TAPPING COLLET
E
Vavaw
' — G3 B4 R (22 )
FITTING il 3G (%) D w
G :J:ﬂjj i@ﬁ‘f%g:% I&.ﬁ"% %% Specification \ Specification +0.08 +0.08 l Photo
G3 M3 3.15 2D =
2 [ ‘B R TS . -'
I ZF AN B B T A4 B SR B iR iR (B 7 A = - - s -
QUICK CHANGE PROTECT TAP COLLET G SYSTEM G3 M5 o 4 F1
R R G3 M6-8 6.3 5 F1
| | = Ee=——— | ey G3 M10 8 6.3 F 1
5 - f*__l %}_G_.I '“____[ o= G3 M1 2 9 7.1 F1
Jigilte il | I | . HEgsa Gl @R B RS Ll by :
1R ' s i < g i @“ T - < . @ﬂ G3 M14 11.2 9 =
| R ] | - ] | b G3 M16 12.5 10 _ F2
N N 55
EHEL il 57 Bk ) i
Read to connect connected separtion —
. \ v L= —2 - -
T4 44 3 L 7] B IR 1R 7 ik H—
SCREW TAP AND COLLET CONNECTING ) 1 _H\E,—g_ -—I}; -5 v ,g — GS TAPPING COLLET
) | ' IR EEE S Y vay —+- A
[ g L G3 4 E ok (R §/JIS)
l—' | L Y .
N
T = | | |
TS (115> 0 ey T P L i (JS) 4 (JS) > W
A i rr’i\_ ol Specification Specification Specification +0.08 +0.05
- J | J G3 M3 1/8 4 3.2
e | = b 43k G3 M4 0/32 5 4
Read to connect cor;nected separtion G3 M5 3/16 5.5 4 5
G3 M6 1/4 6 | 4.5
2 s ] == =] N
AR =2 B EHEEL A G3 M8 5/16 6.1 5
SAFETY FIXED BOTTO ADJUSTING
G3 M10 3/8 / 5.5
‘(T = 54 = o = G3 7/16 8 6
w’\\ ; @%L_ﬁ AN G3 M12 8.5 6.5
iy G3 1/16 9 7
[ B ‘ R - ' '
L~ L I~ L~ sl M Y52/ Feature
0RRK X —— 477 = = 2 N o T N = = - == A, 424 == = 2L = 4T]
J J J SR | 1. BEEHEESREGE, SHEENEYE, EHSGMR. 2. HEMNESESRESE, TUREARMESREHERMTIE.
AAER S A E% B EER 3. BATHEBTRASRM. o N |
Adjustable Safety Fixed Bottom False Operation Correct Operation 1. Overload protection with high precision and sensitivity, which can promise increased tool life.
2. Sensitive response to torque change and adjustable according to different work piece material.
3. Suitable for various tapping tools and machines.
O®|PAGE 63 O®|PAGE 64




OO HRE

DT24/DT33 ne& &R 220

TAPPING TOOL HOLDER 35I| R IFE

RierE EIREFE fEyeRe £[8
Specification \ Tapper Holder Collet Tap Sleeve
s oS MAMSMBMBMIOMIMIAMIBMIBMOM22M24 | T24-MTH1
DT24 MTACI-10PCDS/SET Oer | \W3M6W1/4,W516WIIBWT1EWARWS/SWIANTBWNA" | T24-MT?2
S giled g PT1/8,PT1/4,PT3/8,PT1/2 T24-MT3
DT24-MT2 Holder ’ ’ ’
T33-MT1
DT33-MT3 Holder | M8&M10M12,M14,M16M18M2ONM22M24M27 M30M33,M36 T33-MT2
DT33 MTAL1-10PCDS/SET| DT33-MT4 Holder | W3/16,W1/4,W5/16\W3/8\W7/16\W1/2W5/8W 34N T7/8W1" T33-MT3
DT33-MT5 Holder PT1/8,PT1/4,PT3/8,PT1/2
T33-MT4
DT24/DT33 hEBE#& R FF4H .
1. BIWFAEXIPC
2. DT24/DT33+JTA6+1/2E @588 X1SET
3. DT24/DT33I#4ER K X2PCS
3. DT24/DT3314%4 &3 X6PCS
4. LBIZAEIRF X1PCS
a4 |
el
Hisre LR
Specification standard

3. DT24/DT33AEEHFHE

DT24 MTALI-10PCDS/SET
DT33 MTALI-10PCDS/SET

~

NIhEE. HATRERKF BRI

DT24 MTALJHOL]
DT33 MTALJHOL]

DER,J

DER,J

1, DT24/DT33IX F4An] s 4HEE St ] UMK BIRIIE R D B E .
2. DT24/DT33W F4AERAEE. HE. RE;

7158 (H) #0585 (L) ZsAZ#RF

O®)|PAGE 65

'A6+1/2,DT24-M4 M6,M8,M10,M12,M16,DT24-MT1,DT24-MT2
'A6+1/2,DT33-M8,M10,M12,M16,M20,M24,DT33-MT2,DT33-MT3

TAPPING TOOL HOLDER 3| F3kiEH

DT52 neBiERI T 25

Gl BES =&
Specification Collet I Tap Sleeve
DT52-MT2
M20,M22,M24,M27,M30,M33,M36,M39,M42,M45,M48,M52 DT52-MT3

DT52-MTAS Holder

1. DTS2 F AR FITT UKBIREIER D B A,

2. DTE2IF /I EABE. HE. HRiE,

W7/8 W1" W1-1/8 W1-1/4 W1-3/8, W1-1/2W1-1/5,W1-3/4 W1-7[8W2" | DT52-MT4

DT52-MT5

3. DTS2ARREFHAERNIIGE. FAKBIFFXRMBA® (H) 55 (L) ZRFABRE

JIS ‘ od

DT52 M20

DT52 M22W7/8

DT52 M24 M25

DT52 M27 W1 PT5/8

DT52 M30 PT3/4

DT52 M32 W1-14 PT7/8

DT52 M33

DT52 M34 M35 W1-3/8 PT1

DT52 M36 PT1-1/8

DT52 M39 M40 W1-1/2

DT52 M42 W1-5/8

DT52 M45 M46 W1-3/4 PT1-3/8
OT52 M48 W1-7/8 PT1-1/2

- DT52 M50 W2

DT52 M52

DT52 W1-1/8

15
17
19
20
25
24
25
26
28
30
32
35
38
40
42
22

é
3
5
5
7
9
9
21
21
23
26
26
29

DT52 44 B AR g 3R

1ISO ‘ od

DT52 M20 4 112
DT52 M22 16 125
DT52 M24 18 14
DT52 M27 M30 20 16
DT52 M33 224 18
DT52 M36 25 20
DT52 M39 M42 28 224
DT52 MA45 M48 I 315 25
DT52 M52 355 28

DIN376 I od

O®|PAGE 66

DT52 M20 16 12
DT52M22M24W1" | 18 145
DT52 M27 20 16
DT52 M30 22 18
DT52 M33 25 20
DT52 M36 28 22
DT52 M39 M42 32 24
DT52 M45 M48 26 29
DT52 M52 | 40 32




TAPPING TOOL HOLDER #H|I4 FaziFE TAPPING TOOL HOLDER #H|I4 FaciFE

-4 82
«30.5
1 _— FY \‘
b= - <
G12 TAPPING COLLET — il E__.T"__ Z< 1| 8 > "I "E"""";"T_ b / SPECIFICATIONS
T
Sodr e — = ) R
G12 I B (22 ) ] , S 45, S ham
R Rirg () d w 5 Ritgd N =Ed Ritgd Sl
Specification \ Specification +0.10 +0.15 ()/8H) wRd1 P955a*a fwRd1 P975a*a (&) | fRf2d1 \ P95 a*a
Ca M6-8 6.3 5 30 M3 3.15 2.9 4 3.2 W1/8 4 3.2
_‘ M5 5 4 5.0 4.5 W3/16 5.0 4.5
G3 M12 9 7.1 30 M6 6.3 5 5 4.5 W1/4 6 4.5
G3 M14 11.2 9 30 M8 6.3 5 6.2 5 W5/16 6.1 5
G3 M16 12.5 10 30 M10 8 6.3 / 5.9 W3/8 7 5.5
1 | M14 p gl 9 10 5 8 W1/2 9 /
e e L = il M16 12 10 12 9 W9/16 10.5 8
G3 M24 | 18 | 14 S0 M18 14 11.2 14 11 W5/8 | 12 9
M20 4 1.2 15 2 W3/4 14 11
- o - M22 6 2.5 17 3 W7/8 17 13
o M24 8 14 19 15 W- 20 15
i 3 M27 | 20 16 20 15 W11/8 | 27 17
L ! TN M30 20 16 23 7 W11/4 24 19
~— = = [ ] = = @ | M33 22.4 18 25 9 W13/8 | 260 2
G12 TAPPING COLLET i e H ¥ IOk Z< £ ! s v M36 25 20 28 21 W11/2 30 23
. - ) p
M39 28 22.4 30 23 W15/8 37 20
}' ! v ' :
G12 Iﬁ % I(J I S) B M42 28 22.4 32 26 W13/4 B0 26
M45 5 29 35 26 W17/8 38 29
ﬂn L I d ' ’
Spec'rﬁicztion ifgfcfc‘ifn +0.10 +(\)/.\:5 D 20 Sl =
| | M52 S0:9 28
G3 M6 6 | 4.5 3 M56 355 28
G3 M8 6.1 5 3 M60 40 2.0
G3 M10 7 55 3 M64 40 2.5
; M638 45 39,0
3 M#2 8.0 0.5 3 M70 45 35 &
G3 M16 12 9 _ 3 M76 20 40
G3 M18 14 11 31 M80 50 40
M90 50 40
G3 M20 15 12 31
M9O5 o6 45
tE 8L/ Feature M ERIGSBEHRSE
i Eﬁ HEEH ReEIRE, SHBENEYHE, FRHEGR.
2. MIERED REES, TLM%#E/I*» o)t 8 52 E fHERYHIE
3. BHA TR #AR
1. Overload protection Wlth high precision and sensitivity, which can promise increased tool life.
2. Sensitive response totorque change and adjustable according to different work piece material.
3. Suitable for various tapping tools and machines.
O®|PAGE 67 O®|PAGE 68




PROBLEM AND SOLUTIONS IN TAPPING PROCESS

Wég e RiEeE R

ik | SRR

ELERE

R E R T A

BERTTIE

1 22T

2 245237

B

3 ZZEEIR IR

4 B PREKR | @z

5 R IR/

BRA R
6 AR,
BiR

U ERFSHIEHSE

C)22::501

DIRE R FLiZe (R /)N
QHEFBARYF, YIHIEEELHERERN
QA BFLIRL, #EFLF
ABIZSHTEERE RS

=]

(S THRL 225534 iR AL

BT BESHIRFEATIE
DILIFEHARE
EER

DLERIBIREET K

QEBRTIHIERE
(QLLHEREE
(D225 IR

)22SR

'EF

e

DOBHRSHHNIRE
QLLETIESEIREARS
OYHIRIEFEAGIE
DITHRHERXS
S22 T] EERTIRAD

>z

L

A=

ey

I

>F

it

RS

QYIEIRIEREAS

QTIHIIEE

L

>

NE

IR R ALAS

AKX

f

e

i

1=

ST BESIEREATE

O ELLEFTTEE

DL )HHIKEXRE

VLR E

A

=l

QU ES SRR EE
BIEIREERAIE

VLETBESHEEARE
@ T A EIKER
QLETERR
WHEIRIEEASIE
GRIRSUHEIEE X

B LR

=
=

NI

i

OREgMKEFLER
iR 228, HFLNE)

@TIEET] A ki)
QINAEFRE
QB FFETIEIERE
BORIEFXE, 1kEZF
OB KRR, 48
D6 TIEEE, 1%
QPSR ESE:E225:

OB L RE/NEIR

@& HIE NN
@BEHfEEEE
()R i BB 22§

OEZHPHEVIEIRE
-f’é“;-iag}ﬁjzd\ﬁﬁﬁa, N
)1t A B IS RYT
DTt iTiE Skt
@IEE%?]JE&%&

w)

ﬁ\-b-

OIEEEERENZ
QiEFEERTEIR
BIEHPHEYIEIRE
WIRIEXER, EHEZ
GIEZH RN
@B B2~

OELBEINBIHERE

iR EERERNLZ
@ﬁéﬂﬂkﬁ%&ﬁu%
8 3 HB TR

Sit

OIEHNKBIRE, B
QHITRAIE, &S
OIRUELERITIER
@i EEFRITIAE
GESFETEIRE
O F IR th EIRAVZL

(s

o R 22 I3k
FEYIHI R E
FRRBG 2k

KUHIEKE
HI&
=

i

NS
HI#Ear
HYERI

p=3

HE
HUJHH#ER
Hl &

INTIESERR
o LIFEE
MRV ZREIAE RS
R

it

IR TS 223




OO HRE OO HRE

BORING TOOL SYSTEM f.jhLJ]1& BORING TOOL SYSTEM {1 LJ]E

0

T 3
KA RS B aTE i (0
)
_ J1 0|/
B ST?% 5 J | e TR ERER T
BSTBORING SYSTEM ([ : | .. I
, il '
LM KA FIHASETR | ([ o o
S
Tl et
BSTEE88 J]H%
[e] °
(=
ezt #HEEFL 7J8R(TBH120) Lk o |

i — | [[
I EAER B SESATIAT 127t 4ueE
SrEE=($BEE FL 7J8R(TBH160) 1 [ﬁ
@,
((C @.@ L

TCK#&7I
TCK BORING SYSTEM

FASTHRER(KIZ/N)

\ T
SR RIEN
-
(] | 2
[ o
\
L 0 Es

(I (G " | CBH-L /R $38 e
C32EHEETIFF

BRIE AR FEEHR

O®|PAGE 71 O®|PAGE 72




OO HRE OO HRE

BORING TOOL SYSTEM fLinT71H

BORING TOOL SYSTEM F.ijnTJ]E

$06] =
50 BRI
L JE | L = = 4
sje d1e
$8 78R R g R R
A | L
CONTENTS S Qg 3
. Ga
AT NBH2084 MICRO BORING TOOL SYSTEM
sl =l &l -
NBH2084 &gz fLR% (Bac)
NBHZ0GA PRI RIT]FRGE[TEELE  <vverreressvsseeesrsmaseteoetmsussesets e e e o155 S 72 cad $=FLEL[E HEE=S =355 SHEEITHE B 5
NBUAE (UUEEEGIFLERBE/ESEE  woovornersersorsssssessessssssss e oo oo s e oo 73 =poCiiclion LE Ml piseihed e eI EC)
NBH2084 ®8~0280 ®0.01mm/i% 28.0mm 3.0
I e T — 74
RBH ﬂ'ﬂﬁﬁﬂﬂ]*ﬂgﬁ% ............................................................................................................................................... 75 Fuss %ﬁﬂﬁ@ . JEFH 7]J;|'- %‘I yiz:z ==l E
P . L1 L . . .
CBH AR MUTEHEERRGESL  eoeveeerssersssssssesssssssssss 5524505885505 5855855885558 858 e 76 Specification Boring Range Applicable inserts | Clamp screw | spanner | Weight(KG)
—~2008-32 8~11 20 32 80 | TBGTO0601..L| M2.0x5 T6 0.095
T e 3T g 12 O E————— 77 .
3 —-2010-40 T0=1 20 40 87 | TBGT0601..L| M2.0x5 T6 0.085
L [ I T —— 78 TN o >0 = 08 | TPGHO0902. L1 M2.5x6 s T
BT CK@EEEE*@ ........................................................................................................................................................... 79 -2016-68 16~24 20 68 y 10 TRGHO0902..L M2.5%6 T8 0.16
N S T T R — 80 -2020-83 20~130 20 83 123 | TPGH1103..L| M3.0x7 T8 0.22
CK E(RIEACIEMNTBUYRGEACIEAT  roweereeeeesrssssssssssssssssssssssssssssssssssssssssssssssssssss s s ssssssssssssssssns 81 202596 25~135 20 96 137 | TPGH1103..L| M3.0%7 T8 0.34
SRR — NS H AR BEILLBER (IBFLBEI-34mm ) oo 82 -2030-115 | 30-140 | 20 | 115 152 | TPGH1108..L) M3.0%7 | 79 0.54
DCK2-FBH25P IRUEMIBHERILRS/DCKI-FBHI2P iRABIRIL 54 83 ~2020-L [ 1207280 | 20 |84+BTL1| 100 | TPOHT103.L] FEOXL | T8 ] 0.23
S i el T AR E BMER, L0k, MROMBEHITHARE, SKD61HE.
DCKA-FBHAOP BElliURIBE=FLEmE = oo s sttt s asesassanes 84
O — a5 Y 2n/ Feature
p— 1. AIERERFEE #EER, $EFLEIE8-280mm B —2ERHERT%R0.01mm,
DCKB_FBHBSP *&gmﬁﬂﬁ**%”*}|_'§g}‘ﬁ .............................................................................................................. 86 ke : ‘ .
- 2. FE8xZiE711F, HERETEMELEE.
DCKS_FBHBSP *&gmfﬁﬁﬁ*%%ﬂ_'ggﬁ ............................................................................................................. 87 3‘ ﬁ;l}%ﬁo
BSA ABEERREEFLTIHE  ceeereeeeeereeeesssssseseeseesssssssssiss e sassss 8RR 88 1. Precision adjustable boring head with boring range 8-280mm,
0.01mm for each changing dimension.
BEB QOBERETRTLIIE oo rmon s ses s o ooy oA AT S A AT A RS AR A A A TTRA A 89 2. 8 piece boring bar for free selection of different boring range.
_ 3. Stable boring.
BSA 45;;%4%?2”_%%/888 QOJEE%E:U*H%% ........................................................................................... 90
(RS TR SRR, s e e R e aa i 91
PR T oo e S e oD 92
TR TS oo T 3 B A PN 93
BTG RS | SKHHBINE R T/ CATHABHUER T/ ISOYERHUGRIT s 94 I o
NC TERTEBE]  cweeveeeeesrensesssnsssisssssss s8R R R 05 NBH2084 ‘[ﬁﬁﬁjﬁl* ﬁg}l_’%éjﬁ(ﬁw)
HSK T ERGERE]  weeveeeerssessesmsssssssssssssssssssssse st st a s R bR R 96 98 ¢ 71 46 [E TR sugEAILE 45 7] 4 = 5
Specification Boring Range Spindle model Head Spec Boring bar Weight(KG)
NBH2084-8P 08~280 BT40-NBH-50 NBH2084 SBJ-20.. 9.5
NBH2084-8P 08~280 BT50-NBH-55 NBH2084 S5BJ-20. 12.0
NBH2084-8P 08~280 NT40-NBH-50 NBH2084 SBJ-20.. 9.3
NBH2084-8P 08~280 NTS50-NBH-55 NBH2084 SBJd—20.. 10.8
NBH2084-8P 08~280 SK40-NBH-50 NBH2084 SBJ-20.. 9.5
NBH2084-8P 08~280 SKS50-NBH-55 NBH2084 oBJ—20.. 12.0
NBH2084-8P 08~280 R8-NBH-50 NBH2084 SBJ—20.. 10.0
O®|PAGE 74




BORING TOOL SYSTEM f.jhLJ]1& BORING TOOL SYSTEM {1 LJ]E

ZEE

| .

7] A EE
Blade bearing TR
d / ?lade bearing
I* q < > @ L2, /L3
= (<8l EWN.NO. —— ﬁH ? 51 sl o, =
: '-E %E %n
MBI g %E L - - i
|« L1 :l f;U mﬁg o0 %
iEiI'T'IE ro
EE':JE iﬁ?Lﬁl S ETIZ 58 i &
Specification | Boring Range Turning precision Stroke | Weight(KG)
SBJ16 dP6~d 51 ®0.01mm/#& | 6.0mm | 1.2 EWN MICRO BORING HEAD
e * = i e T
e ErleE L1 L BRI ] i 2= EWN 7Eflfg e tes
Specification Boring Range Applicable inserts | Clampscrew | spanner | Weight(KG)

m ~1606—24 * 6~9 16 | 24 | 73 | wBeTo601..L| M2.0x4 | T6 0.014 RIS E$2Boring R#Counterboring &K 7IKE IR 8% KT =8
~1608-32 011 16 39 ' 30 ' TBGT0601..L M2.0x5 . TE ' 0.077 Specification | |1 L |PBEIRange| B | L2 | L3 |sEEIRange |Modular holder |Blade bearing| Insert |Screw |Wrench| Weight
~1610=40 10-13 | 16 | 40 | 87 | TPGHOGOT..L | M2.0x5 1 76 0.082 EWN20-36 [29.5|32.5 %%:::2%? 10hod 19| - CK1 | Entz |TPGH M2.2| T8 |0.07
=1612-563 12~15 16 53 98 | TPGH0902..L | M2.5%x6 T8 0.095 ' ' 30-36 ' 30-36 LBK1 ENH1-3 080202 : ‘
-1614—-60* 14~17 16 60 | 103 TPGH0902..L | M2.5%x6 T8 0.101 25-33 | | - ENH2—1 TPGH“

-1616-68 | 16~21 | 16 | 68 | 110 [ TPGH0902..L | mM2.5x6 | T8 0.143 EWN25-47 |32.5(35.5| 32-40 [12.5[11.5 21| 36-40 | P52, | ENH2-2 |ggopop|M2.2| T8 | 0.12
~1620-83 20~26 | 16 | 83 | 125 | TPGH1103..L | M3.0x7 | T8 0.203 49-41 S5=47 il
_ = | . - SGH A M3.0x7 | _ 32-42 - ENH3-1
1625790 B N e T L EWN32-60 | 35 | 40 | 41-51 | 16 [10 | 25 | 46-51 | CK3 | Enms-2 |ggooib|M2.2| T8 | 0.21
-1630—-90 30~36 16 90 128 | TPGH1103..L M3.0x 7 T8 U.275 50-60 50-60 ENH3-3
_"635_90’lr 35""41 "6 90 !28 T:'G_" "03.._ M30><7 T8 0280 | 41_54 - ENH4-1
-1640-90 40~46 16 90 128 | TPGH1103..L | M3.0x7 T8 0.280 EWN41-74 | 43 | 47 | 50-63 | 20|14 |1 29| 53-63 Egliﬂf ENH4-2 -,Ir%hzﬂ(;l M2.5| T8 |0.40
~1645-90* 45~51 | 16 | 90 | 128 | TPGH1103..L. | M3.0x7 | T8 0.211 61—74 61—74 Skl -3
. R AR RS R AN " ' 2370 93-70 | oxs | ENHS-T lomT
= " = ? EWNBS3-951 53 | 57 | 65-82 |25.5] 19| 34 | 65—82 _BK5 ENH5-2 | 415004 M2.5| T8 | 1.10
78-95 78-95 ENH5-3
68—-100 80-100 CKE ENH6-1 TCMT
® EWNG68-150|67.2| 71 |94—-126 |32.5| 22 |145.2| 94-126 _BK6 ENH6-2 110204 M2.5| T8 | 1.47
e 118-150 118-150 ENH6-3
LTI 100-153 112=153 CKB ENH6-1 TCMT
EWN100-203|67.2| 71 126—-179|45.5| 22 45.21126-179 L BK6 ENH6-2 110204 M2.5| T8 | 2.46
i e ot | 25
AU 3% F AR E ¥IFESEER B 3% AR E ¥ MEEEER B 3% FAREl ¥ MEEEER

NBJ16 MICRO BOR NG TOOL SYSTEM Specification | Drawing of shape I Boring head | Specification| Drawingof shape| Boringhead | Specification | Drawing of shape| Boring head

sjs e _ _ -

NBJ 16 Tﬂﬁn”’l‘ ,fi }Lgff (EW) .._; SCK1- j_; SCK4- j_; SCK4-

. : : . ; EWN20-36 EWN41-74 EWN41-74
B SR iz fLE = = Bl AR AR i85 $5BR AUGR 52 J1FF Eol)=-) -3 @ ( 4-3 4-3 @
Specification Boring Range Spinde handle models Head NO Bar keep out Weight(KG) 4 ] 5—1 5—1
_' - SOK2- . ABl| SCKs5- ED SCK5-

NBJ16-12P 6~51 BT40-CKE—55 NBJ16 SBJ—16.. 9.1 5_1 EWN25—47 £_3 3( —| EWN53-95 5_3 EWN53-95

) NBJ16-12P 5~5" BT50-CKB—65 NBJ16 SB.J—-16.. 11.7 3_1 I RZ7D 6-1 SRR | SCKe- -1 X3 R J] B SCK6-

NBJ16-12P 6~5" NT40-CK6-55 NBJ16 SBJ-16.. 8.5 3o |TPGH080202 | sck3- | S7) [TcMT110204) EWNEB-150| S_, |TCMT110204 EWNeS-150

G0l NBJ16-12P 6~5" NT50-CK6-65 NBJ16 SBJ-16.. 10.3 39 el | B e o] 6=3 S

S NBu1e-12P 6~51 SK40-CK6-55 NBJ16 SBJ-16.. 8.9 #£BE/ Faature

NG  NBJ16-12P 6~51 SK50-CK6-65 NBJ16 SBJ-16.. 10.5 | fﬁﬂ%ﬁﬂ,ﬁmﬁ%zo 208 mm AR 001 m.

1. AIERENFE R EEER, $EFLEE6-51mm, B—ZIERAERTH0.01mm, 2. FERHESZIETIF, AFEREARRAIEILEGRE. 3. #EILEBE.

1. Precision adjustable boring head with boring range 6-51mm, 0.01mm for each changing dimension.
2. 8 piece boring bar for free selection of different boring range. 3, Stable boring.

Precision adjustable boring head with boring range 8-280mm, 0.01mm for each dial diameter.
Internal cooling direct for boring insert, with increased tool life.
Dynamic balance ensures precision and stable boring.

2. FIAR IR TNIEESA,JIIRSiHk,
3 e/ Feature 3. BT IR

1

2

3

O®|PAGE 76




OO HRE

BORING TOOL SYSTEM i TJ]E

BORING TOOL SYSTEM F.ijnTJ]E

RBH ADJUSTABLE ROUGH BORING HEAD

RBH rIEE={ SE20HEES

H:14 RB
RB

RB
RB
RB
RB
RB
BST &
RB

AR

Specification

H19-25-C
H25—-33—C
H32-42-C
140-55-C
H52—70—C
H68~92—-C
H90-122-C
H120-164-C

H160-204-C

B SNERSH(mm)Size  §2F|S0E]

Figure

A

A
A
A
A
A
A
B
B

C
19
24
31
39
50
64
64

95
95

L
40
45
95
65
75
85

100

95
95

1

BAETIWR
Modular hoider

9

R

ZHE TR TIRBESR e IRF  E=
Boring range D| Modular holder Insert Screw | Wrench| Weight
19-25 _BK1 ccmT0602 [ M2.5 | T8 |0.10
25-33 BK2 CCMT0602 [M25| T8 | 0.15
3242  BK3 CCMT0602 | M2.5 [ T8 | 0.30
40-55 BK4 | CCMTO09T3 | M4 | T15 | 0.50
52-70 BK5 cCMT09T3 | M4 | T15 | 1.00
68-92  BK6 cCcMT1204 | M5 | T20 | 2.00
90-122  BK6 CCMT1204 | M5 | T20 | 2.90
| 120-164 | BST | ccmT1204 | M5 | T20 | 3.80
| 160-204 BST CCMT1204 | M5 | T20 | 4.80

4= BE/Feature "

1. FIEAEN$AEEEE, $EFLEE19-204mm,
2. HEERHE, BItEE, BH TREEILEE,

1. Adjustable rough boring head with boring range 19-204mm.
2. Simple modular structure, high boring rigidity for universal boring process.

O®|PAGE 77

i ©0© =

$8 7L 85 E200-910mmiBA F 5 MODULAR BORING CUTTER
42 LUl =IF) 'EE',_‘»‘_J sje =
CBH Xi& s zi=s
il i SMER~F (mm) Size 27| EE ZHE 7INg TIRESR izt IF BEE
Specification C i Boringrange | Modular holder \ Insert Screw | Wrench | Total weight
219§ CBH200310| 180 130 | 200-31 BST | 9.7
CBH300410 280 130 300-410 BST 11,7
BH4005- * 400-5 BST | 13.7
'CBH400510| 380 30 | 400-510 | BST | __ . 000 3
CBH500610| 480 130 200-610 BST M2.5 18 15.7
| TCMT110204
'CBH600710| 580 130 600-710 BST 17.7
CBH700810 680 130 700-810 BST 19.7
|
CBH800910| 780 | 130 | 800-910 | BST 21.7
BBIR ZHERZ=( TR B BE
Specification Module Insert Total weight
. HSTIR (
~BSTZ%
BT50-BSTZ7%!Series Module holder C@: (ﬂ@
=R
BST-FI200 Flange _ 2.7
DST200 3.4
PDST300 h oA
DST400 — 7.4
DST500 = ' S __< 9.4
Extension Slide
DST600 1.4
DST700 13.4
DST800 15.4
YR ER
SENHD Balance Weight @ 1.5
LB Finsert Head E: 1.0

A7 Suitinsert
TPGH080202/M2.2/T7, TPGH090204/M2.5/T8, TCMT110204/M2.5/T8, TPGH110304M/3/T15

(O®|PAGE 78




Qg i
MODULAR BORING CUTTER ) ”
== 7 EE Y] kA E=0
RBH ﬂ-nJ:_Initk'fIx. by 7|: Hﬁg;.. 2 7L E1 B D200-D900mmEAE R 71l
HUIR MR~ (mm )Size s = ZHE JIHR TIRBYR RRER IRF EZEpE=E
Specification Boringrange | Modular holder Insert Screw | Wrench | Total weight
| RBH200310 180 130 200-310 BST M5 T20 9.7
RBH300410 280 130 300-410 BST M5 120 y Ly
| : .. = (iEESTI R ) ..
RBH400510 380 30 400-510 BST YB200—-C12 M5 120 3.7
RBHS500610 [ 480 130 500-610 BST DB200-T16 | M5 T20 5.7
.. ; = - DB200-T22 17
RBH600710 580 30 600-710 BS JB200-S12 M5 T20 7.7
RBH700810 6380 130 /700-810 Bl M5 120 19.7
RBH800910 780 130 800-910 BST M5 T20 21.7
ity i ZHEHZ=( JTIRB%SR BE
Specification Module Insert Total weight
. HETIHA :
— = |
BT50-BSTZ?%!Series Al Felrcs LA@[ (ﬁi@
. E__‘.J
BST-BR200 F@I %n = 2.7
oo <~
RST200 3.4
RST300 5.4
RST400 — B _ 7.4
RST500 i e 9.4
Extension Slide .
RST600 11.4
RST700 13 .4
RST800 15.4
B
RS200 Clamp Base Q 0.98
JIREER S S O @}
RS201 Height Setting Shim 0.05
RB200-C12 CCMT1204 |
RB200-T16  TCMT16T3 f])* :tf% —73’: .
RB200-T22  TCMT2204 | aosicableinsedt ~ ===\ '
RB200-S12 SCMT1204

O®)|PAGE 79

BORING TOOL SYSTEM F.ijnTJ]E

OO HRE

Tk 4
/ —
) |1 f
\J —|[ I
N spe = -—
BST £=85 /)8
BB SMEZR~F (mm) Size i)
Specification D L Weight
BT40 BST-70 | 50 | 70 3.2
BST-100 | 50 | 100 4.0
BT50 BST-100 50 100 5.10
BST-150 50 150 6.8
BST-200 50 200 9.6
BST-250 50 250 11.5
BST-300 50 300 14.4
BST-350 50 350 16.8
BST-400 50 400 19.3

BST#Ei5EE FL7IBRERENR R 5 (§2FL20[E]>200)

(O®|PAGE 80




OO HRE OO HRE

BORING TOOL SYSTEM fLinT71H

BORING TOOL SYSTEM F.ijnTJ]E

i L | FkNo
BTNO y ol
| 9 |2
| g ' BT LBK BORING TOOL HOLDER
" L | #nmENO sl
BT NO M _.EK”O \_'1 i e BT LBK%E?]*I_}@
M
_____ I 3 HUgE R =<f Szie Flg E==)
T R —— (O 8 Specification BORS L L1 D | Weight(KG)
MODULAR BORING CUTTER . : BT30 [ -5k o 20 ¥ 3 -
=& | LBK3-80 ~ LBK3 80 50 31 ~ 1.0
BT CKZE!IEHA —— L BK4-70 | CBKk4 70 40 39 1.3
| LBK5-60 _BK5 60 30 50 1.8
il R~ Sze HE5T Fig g LBK6-60 LBK6 60 30 64 3.0
Specification BOse L L1 D | Clampscrew Weight(KG) BT40 LBK1-75 BK1 | 75 | 40 19 | 1.1
CK1-70 CK1 70 45 19 CKM1 0.47 LBA1 0 LBK1 105 70 19 1.3
CK2-80 CK2 80 55 24 CKM2 0.48 LBK2-85_ LBK2 85 50 2 L
CK3-80 CK3 | 80 [ 55 31 CKM3 0.48 LB LBK2 115 80 24 1.6
I o I O
CK5-60 CKs | 60 | 38 49 CKM5 0.67 TERA T2 Bk3 | 155 | 120 39| 32
CK1-75 CK1 75 A5 19 CKM1 1.06 yorm N -
~ CK1-115 CK1 | 115 | 85 19 CKM!1 1.09 e " £ 20 29 L
CK2-85 CK2 85 55 24 CKM2 1.07 LBK4-130 BK3 | 130 65 49 2.4
CK2-120 ck2 | 120 | 90 24 CKM2 1.15 LBK4-=175 _BK3 | 175 140 42 2-7
CK3-95 CK3 95 | 65 31 CKM3 1.24 SELSTR B o 0 6 .3
CK3-145 CK3 145 | 115 31 CKM3 1.41 tgﬁgjgg —BKg Eg ?910 gg | 2-8
CK4-8 CK4 85 50 39 CKM4 1.15 : I I :
CK4-135 CK4 135 | 105 39 CKM4 2.03 Ae Lt HELLE £ =0 83 3.3
CK5-105 CK5 105 | 75 49 CKM5 1.78 LBK6-115 BK6 | 115 90 19 4.7
CK5-165 CK5 | 165 | 135 49 CKM5 3.30 LBK6-165 -BKﬁ | 65 130 ;3 5.9
CK6-65 CK6 65 35 62 CKM6 1.37 BT50 G- S =5 119 s do
CK6-115 Cké | 115 | 85 62 CKM6 2.16 LBK1-145 LBK1 145 95 24 5.6
CK6-165 CK6 | 165 | 135 | 62 CKM6 2.91 LBK2-110 BK2 | 110 [ 70 31 | 6.8
CK7-90 CK7 | 90 | 63 83 CKM7 2.66 L A=l 140 20 31 5.5
BT50 CK1-115 CK1 115 40 19 CKM1 3.76 LBK3-125 _BK3 125 95 39 6.9
CK1-145 CK1 | 145 | 70 19 CKM1 3.88 LBK3-195 _BK3 195 105 39 8.1
S o A 1 e e o e s £
CK2-140 CK2 | 140 | 110 24 CKM?2 4.05 EERI—122 N o 12
CK3-135 CK3 | 135 90 31 CKM3 3.86 -BK . -
CK3-175 CK3 | 175 | 130 | 31 CKM3 4.14 s HaL 2 = o T
CK4-125 CK4 125 85 39 CKM4 4.05 LERS—105 JEade 1939 25 o 2
CK4-185 CK4 | 185 | 145 39 CKM4 4.57 LBK5‘1§0 _BKS , 20 130 83 4.5
CK5-140 CK5 140 | 100 49 CKM5 4.16 Rl s 120 s 93 1.8
CK5-210 CK5 | 210 | 170 49 CKM5 | 5.60 TERe=12% Bke | 170 | 145 8 | 22
CK6-95 CK6 95 | 55 62 CKM6 4.45 T N L T 22 22
CK6-170 CK6 | 150 | 110 [ 62 CKMB 5.69 CEre—550 Bk6 | 300 | 145 S >:3
CK6-230 CK6 230 190 62 CKM6 6.11 CEret e 2 123 23 25
CK7-105 CK7 | 105 | 65 83 CKM7 5.34 | - -
CK7-185 CK7 185 145 33 CKM7 1 8.89 _
CK7-250 CK7 | 250 | 210 83 CKM?7 : 10.25 4§24/ Feature

1. 7IRAEBEENL, BEREEHE, 2. NRAERARSHEER, BENEIEE, RENIRERE.

1. Tool body is finish machined for stable run-out accuracy.
2. Covering interface between tool holder and boring head, precision vibration enhances machining surface roughness.

O®|PAGE 82

CO®|PAGE 81




OO HRE

Specification

AR

1-36
2-37
3-50
4-67
4-51
4-10
5-41
5-91

BORING TOOL SYSTEM fLinT71H

O HRE

BORING TOOL SYSTEM F.ijnTJ]E

RIHR

1-30
2—0)
3-30
4-45
4-60
5-60
590
6-60

6-100
7-100

Specification

1

MODULAR BORING CUTTER
CK FEEREMR

D1
11
14
18
22
P
22
28
28

19
24
31
39
39
49
49
62
62
83

D2
19
24
31
39
a9
39
50
50

el e e e _©_._ 41 |o

R < See 5%
d1 a2 L Weight
11 11 30 0.07
14 14 30 0.1
18 18 30 0.15
22 22 45 0.4
22 22 60 0.4
28 28 60 0.8
28 28 90 1.1
36 36 60 1.4
36 36 100 1.8
42 42 100 3.1

d3 g e L . ©_ W
R = Size =8
d1 a2 L1 L Weight
14 - 30 36 0.1
18 a1 2D 37 0.15
22 39 37 50 0.35
28 49 50 67 (.7
36 62 35 51 0.85
36 62 85 101 1.3
36 62 25 41 0.85
36 62 75 91 1.45

CO®|PAGE 83

oD

® D1

AR

Specification

160548
160648
160848

BB

Specification

200547
200647
200847

H 4t RS A AT 2 1

AR L

Specification

H At IR AT T 1.

AR

Specification

SIMPLE TYPE BORING

524 /757 e Sk
BIRER]
HMED2 AHED1 1 FH #5858 T
(mm) (mm) Applicable Carbide Tool Holder
16 s} STO5
6 6 STO6
6 8 STO8
HMED2 AHED1 1 FA #54R I #F
(mm) (mm) Applicable Carbide Tool Holder
20 S STOS
20 6 STO6
20 8 STO8
- L >
n I
WED #EEFM EFREFLER ERAER
(mm) (mm) Applicable Carbide Tool Holder Applicable Bushing
08 M5 BEO9A.BE10.5A NBJ16-160848.NBH2084-200847
10 M6 BE12A 1€2010.C1610
12 M6 BE14A.BE16A C2012.C1612
16 M10 BE16A C2016
BE18A BE20A BEZ22A BEZ24A
BE26A BE28A BE30A

&ED

—RE U/ MRIRIZERRIETT

EHER

Applicable Bushing

0590 WB0608-8D NBJ16-160548 NBH0284-200547
0698 TB7510-8D NBJ16-160648 NBH2084-200647
COB115) TB0912-8D NBJ16-160848 NBH2084-200847
HAth AR 0 E Hll o
A —F [= £ 7l &5FE
zHE=(HEFLERBER! (#EFL&EC[EI9~34mm)
Elax BU% d H L M TIE [ HE
Figure Specification \ (mm) | (mm) | (mm) | (mm) Insert \ Clamp Screw Wrench

BEO9A 9 7 18 | M5 | TB**06** | M2.0x5%xD2.85 T6

BE10.5A 0.5 / 18 | M5 | TB**06** | M2.0x5xD2.85 16

BE12A 12 | 8 | 23 | M6 | TP**08* | M2.2x5xD3.0 | T7

BE14A 14 10 23 | MB | TP*08** | M2.2x5xD3.0 17

BE16A 16 10 23 | M6 | TP**08** | M2.2x5xD3.0 T4

BE13A 18 |1 14 | 27 | M10 | TP**08** | M2.2x5xD3.0 17

BE20A 20 | 14 | 27 | M10 | TP**09** | M2.5x6xD3.5 T8

BEZ22A 22 14 27 | M10 | TP**09** | M2.5x6xD3.5 18

BE24A | 24 | 14 | 27 [M10 | TP**09** | M2.5x6xD3.5 T8

BE26A 26 | 14 | 27 | M10 | TP**09** | M2.5x6xD3.5 T8

BE28A 28 14 27 | M10 | TP**09** | M2.5x6xD3.5 T8

BE30A 30 | 14 27 | M10 [ TP**09** | M2.5x6xD3.5 18

FFg Al 7E Hl o

il

O®|PAGE 84




OO HRE

BORING TOOL SYSTEM f.jhLJ]1& BORING TOOL SYSTEM {1 LJ]E

-
-

\. Jf]k l:' L
o | E — = ) | R 7 )
O
| —2 «
ﬁT @® um-m, +.\'
MODULAR BORING CUTTER MAX 1mm-<|—»MAX 1mm
i} = 1 = 1L
DCK2-FBH25P 1hzftusirgss FL 247t
AUSiR SMERSE(mm )Size  £2FLEE] ZBE TR 5=
Specification | 1 Boringrange| Modular holder  |weight
:{E1] DCK2-FBH25P 80 2-6 BT30-DCK2-80]0.70
{[)] DCK2-FBH25P TS 2—6 BT40-DGK2-75{1.30
1 | : | g
y
fREEfLUME iEFEE 0 RE EE |
Cutting bar Boringrange | DM | weight
TA0602-10 2—3.7 10 | 0.01 > =
TA0603-16| 3-4.2 | 16 [0.01 - ““
.TA0604—22_” 4—5.2 22 |0.02 g
TA0605-28| 5-6.2 | 28 0.02 > _
TA0606-32| 6-7.2 | 32 [0.02 - § J L )
C— ) = J 5
O
bo |
@@ 1N
AR~z '. <
ekl = MODULAR BORING CUTTER
MAX 1mm+——» MAX 1mm
/) e e P SParch
— y DCKA4-FBH40P 1Rz071EE1552 FL R %t
- == ¢ EilLi SMEZR~F (mm)Size  $£7L &[] 4BE TR B8
Specification L1 Boringrange| Modular holder  |weight
: | :{E]1] DCK4-FBH40P 70 2-8 [BT30-DCK4-70|1.21
| AN EN S “l : ; - _DCK4—FBH4OP__ 70 2—8 BT40-DCK4-70 1.61_
DCK3 FBH32P *u—T—mm'[*’d[nH*- .. MAX 1mm<——>MAX 1mm
RS HMER~HImm )Size  £2FLEE] ZHE 7R 5=
Specification \ L1 Boring range Modular holder  |weight &t e |
:{E/I] DCK3-FBH32P 80 2-8 |BT30-DCK3-80|1.02 . ;
_ ik fj WEINE  HE RE EE
L1 DCK3-F BHSZP_..._ 80 } 2-8 _._.;BT4O_DCK3_80...1‘61. 1 | S8 i Cutting bar Boringrange | DM | weight
CA0802-09| 2-3.2 9 0.03
WEEANE  IEE  RE S8 L )] )] ) i _ [ o |o.03
Cuttingbar | Boringrange | DM | weight = L e = CAD803-16| 3-4.2 16 10.03
TA0802-10| 2-3.2 | 10 |0.03 o " CA0804-22| 4-5.2 | 22 [0.03
TA0804-22| 4-52 | 22 [0.03 g 4 " ©AD806=321 6=7.2 | 32 10.04
-TA0805—28 j 5_6.0 ' 28 004' g “ _ICA0807—37___ —8.2 37 _0.04
-TA0806—32- — - TRITY | « _CA0808—42____ 8-9.2 | 42 [0.05
TA0807-36| 7-8.2 | 36 |0.04 -
TA0808-42| 8-9.2 42 _0.05 -

O®)|PAGE 85 O | PAGE 86




OO HRE

BORING TOOL SYSTEM fLinT71H

OO HRE

BORING TOOL SYSTEM F.ijnTJ]E

L1

—
’ -—d ™
A ()(D _qﬁtﬁm;%iiiE%MHhm
MAX 2mm < »MAX 2mm
DCK5-FBH50P 1RzftEff5E2 FL 2%t
il id SMNEZR=H(mm )Size 27| EE] ZHE IR BE
Specification L1 Boringrange| Modular holder  |weight
"1E1] DCK5-FBH50P 70 6-90 |BT30-DCK5-70| 8.2
31[1] DCK5-FBH50P 80 6-90 |BT40-DCK5-80|10.8
t1k'1] DCK5-FBH50P 90 6-90 [BT40-DCK5-90[11.3
— —
16
FaEEfLNE EEFEE RNE ibay BRL% F E= j ]H | A
Cutting bar  |Boringrange| L Insert Screw |Wrench| weight éngl
BR1606-21| 6-9 |21|wBcT0601..L] M2 76 | 0.04
BR1608-28| 8-11 |28|TBGTO0601...] M2 | T6 |0.04 — B |
BR1610-35| 10-13 |35|TBGT0601..L.] M2 | T6 | 0.05 =
BR1612-42| 12-15 |42 |TPGH0902..L] M2.5 | T8 | 0.06 | 2
BR1614-50| 14-17 |50 TPGH0902..L] M2.5 | T8 | 0.07 - ~
BR1616-60| 16-20 |60 | TPGH0902..L{ M2.5 [ T8 |0.09
BR1620-65| 20-24 [65|TPGH1103..L| M3 | T8 [0.11
BR1624-68| 24-28 |68| TPGH1103..L] M3 | T8 |[0.12 -
BMS5 komrasssampsomeus| AHLO512| L4 | 0.25 l
MLTP2938 | 29-38 [+10| TPGH0902..L|] M2.5 | T8 | 0.01 %mq
MLTP3652 | 36-52 [+12] TPGH0902..L] mM2.5 | T8 |0.02 .
MLTP4468 | 44-68 |+12| TPGH0902..L] M2.5 | T8 | 0.03 -
BMS8 +MLTP5790 |AHL0820| L6 | 0.03 :
MLTP5790 | 57-90 [+20| TPGH1103..L{ M3 [ T10 | 0.10 -

O®)| PAGE 87

@)
—a |
0 e ‘@
T, ,,
MAX 1 mm-+ »*MAX 1mm
MODULAR BORING CUTTER
DCK6-FBHG63P 1:zliisffaEs FL &4
RIS SNEZR~F (mm )Size  $2FLEE ZHE 7R BEE
Specification L1 Boring range Modular holder weight
DCK6-FBHB3P 55 6-150 |BT40-DCK6-55] 8.2
DCK6-FBHB3P 85 6-150 |[BT50-DCK6-85(10.8
DCK6-FBH63P 155 6-150 |BT50-DCK6-155[11.3
.
16
o (0] € 1 MEETME  STEE RE I 8% HF BB
IQ!% - Cuttingbar  |Boringrange| L Insert Screw |Wrench| weight
BR1606-21| 6-9 [21[wBGT0601.L] M2 | T6 [0.04
[ R e BR1608-28| 8-11 |28|TBGTO0601.L| M2 T6 | 0.04
NN B BR1610-35| 10-13 |35|TBGTO601..L] M2 | T6 |0.05
= |+ BR1612-42( 12-15 |42 |TPGH0902..L] M2.5 | T8 | 0.06
~ . BR1614-50| 14-17 | 50| TPGH0902..L| M2.5 | T8 |0.07
. BR1616-60| 16-20 |60| TPGH0902..L| M2.5 | T8 | 0.09
: BR1620-65| 20-24 |65|TPGH1103..L] M3 | T8 | 0.11
> BR1624-68| 24-28 |e8|TPGH1103..L] M3 | T8 |0.12
= F - BM>S pedaissam area AR 0B 12] L4 | .25
E~ SRTP2938 | 29-38 [+10| TPGH0902..L| M2.5 | T8 | 0.01
: SRTP3652 | 36-52 [+12| TPGH0902..L] M2.5 | T8 |0.02
: SRTP4468 | 44-68 |+12| TPGH0902..L] M2.5 | T8 | 0.03
: BM8 +MLTP5790 [AHL0820| L6 | 0.03
: SRTP70110| 70-110[+20| TPGH1103...l M3 | T10 | 0.10
’ SRTP110150{110-150 [+20] TPGH1103...] M3 | T10 | 0.21

O®|PAGE 88




LoOHRE

DCK6-FBH63P 1BzHizk5E fL &4

RIS

BORING TOOL SYSTEM i TJ]E

BORING TOOL SYSTEM F.ijnTJ]E

OO HRE

Specification

DCK6-FB
DCK6-FB
DCK6-FB

A5

H63P
-H63P

H63P|

AMNEZR~T (mm )Size  $2FLETE

150
150
150

$EFLEE JMERH(Imm)Sze EE
weight

Specification  |Boring range
PS140-20 +Bm8
MLTP2938 [150-200
MLTP3652 |[160-210
MLTP4468 |170-220 |
MLTP70110 [140-240
MLTP110150( 180-280 |

20

O O N TR O

:'M 42
lock
|

MAX 4mm «—F—>»MAX 4mm

&
. =3
N W,
ZBE 7R s
Modular holder weight

BT40-DCK6-55| 8.2
BT50-DCK6-85
BT50-DCK6-155(11.3

10.8

0.43
0.01

0.02

0.03

=
= ."'."’i"'#l’“."'i"'i'| o =
Iji
A
| g%

0.10

0.21

O®)|PAGE 89

BSA45°ROUGHING BORING BAR

BSA 45FHEEFL /)R

AR

Specification

7:24AT3

AN

5
"
i::‘,:

=

LJ

L1

BSA25-120
BSA30-150
BSA38-165
BSA42-165
BSA50-165
BSA62-180
BSA72-180
BSA90-180

BSA25-135
BSA30-165
BSA38-180
BSA42-210
BSA50-180
BSA50-240
BSA62-195
BSA62-270
BSA72-195
BSA72-285
BSA90-210
BSA90-300
BSA105-195
BSA105-285

20
24
30
34
40
50
60
5

20
24
30
34
40
40
50
50
60
60
75
7o
90
90

tEBt/Feature

1. IEANAKBIETIESREF

2. IEHILEH

FAWJE =

R~F (mm )Size
22 30
26 40
33 50
3l 50
44 65
56 80
— 95
22 35
26 40
33 50
37 60
44 65
44 65
56 80
5le 80
06 95
66 95
80 110
80 110

130

94

(O®|PAGE 90

$¢7 5

Boring range
90 25—-38
120 30-42
135 38-52
135 42-56
135 50-65
150 62-90
150 72-110
150 90-125
92 2H~38
122 30-42
137 38—52
167 42-56
137 00-65
197 5§ 5
152 62-90
227 62-90
152 2=110
242 2=110
267 90—125
257 90—-125
182 105-160
242 105-160

25

HR 4% 55
SM6 1.3
SM6 1.9
SM8 1.8
SM8 2.1
SM 2.4
SM10 2.9
SM10 4.0
SM10 5.
SM6 4.3
SM6 4.5
SM8 4.9
SM 0.1
SM10 5.5
SM10 2.8
SM10 6.3
SM10 Tl
SM10 ]
SM10 9.4
SM12 9.5
SM12 12.6
SM12 110
SM12 15.3




LUl HRE

®

BORING TOOL SYSTEM i TJ]E

BSB90°ROUGHING BORING BAR
BSB 90/EZ#HEE FL 71k

......

0%
/4

7:24AT3

Ruge Rt (mm)Size $ET| EpE] B 44 55
Specification d1 d2 L1 L Boring range I W Screw weight
BSB25-120 20 22 35 90 25-52 8 SM6 1.3
BSB38-150 30 33 55 120 38-70 10 SM 1.8
BSB50-165 40 44 70 135 50-90 13 SM10 2.6
BSB62-180 50 56 80 150 62-115 16 SM10 3.7
BSB90-180 75 ~ = 150 90-150 19 SM12 6.0
BSB25-135 20 22 35 92 25-52 38 SM6 4.5
BSB38-180 30 33 55 137 38-70 10 SM 5.1
BSB50-180 40 44 70 137 50-90 13 SM10 5.7
BSB50-240 40 44 70 197 50-90 13 SM10 6.0
BSB62-195 50 56 80 152 62-115 16 SM10 6.7
BSB62-270 50 56 80 297 62-115 16 SM10 8.1
BSB72-195 60 66 95 152 72-135 19 SM12 7.6
BSB72-285 60 66 95 242 72-135 19 SM12 9.9
BSB90-210 75 80 115 | 167 90-150 19 SM12 10.0
BSB90-300 75 80 115 | 257 90-150 19 SM12 13.1
BSB105-195 90 90 - 152 105-190 25 SM12 1 4.7
BSB105-285 90 94 185: | 242 105-190 25 SM12 16.0

txBE/Feature

1. BRATFILE

2, AliEH

3. MA@, HEMT,

T A T B 7

MR, ERREEZ T,
T l-0

O®)| PAGE 91

BORING TOOL SYSTEM F.ijnTJ]E

» OD

o s2¥Lgi[E] Boring Range
Specification ® A min ® A max
- BSA30-CK2 | @30 ©42
| BSA38-CK3 ®38 ®52
BSA50-CK4 ®50 ®65
BSA62-CK5 ®62 ®90
BSA72-CK6 d72 ®110

> ®D

DA

e /
*IAF
< L >
B #27 &[E| Boring Range
Specification ® A min ® A max
- BSB25-CK2 | ©26 ®52
BSB38-CK3 ®38 ®70
BSB50—-CK4 50 ®90
BSB62-CK5 d62 ®115
- BSB72-CK6 | @72 ®135

oD
24
31
42
55
63

OO HRE

© D1
24
60
40
50
60

MODULAR BORING CUTTER

BSA45/E#

R ~f Size

L E [IW
40 1.6 8

60 | 26 10
70 3 13
85 2 16
98 2.4 19

B FEIEER

G
M6 x1.00P

 M8x1.25P

M10x1.50P
M12x1.75P
M12x1.75P

oD
24
31

42
55
63

® D1
20
30
40
50
60

(O®|PAGE 92

BSB 90E&H

R ~F Size

L L1 Ow
45 10 3
hb 10 10
60 10 13
70 | 1 16
85 | 12 19

AUFHEE

G
M6 x 1.00P

M8 x1.25P
M10x1.50P

- M12x1.75P

M12x1.75P |




OO HRE

" )
L ]
5,
.\6\ - __
-7
H
e =

MODULAR BORING CUTTER

BORING TOOL SYSTEM fL/inT1E

BORING TOOL SYSTEM FLinT7]1E

CBS 713 L
RUIR AE TR #r& it 5

Specification D L Angle Insert \ Clamp Screw Wrench
CBS-408 8 50 45° CCMTO0602 M2.5-6.0—-3.5-60 T9
CBS—~410 10 60 45° CCMTO09T3 M4-10-5.7-60 T8
CBS—413 13 70 45° CCMTO09T3 M4-10-5.7-60 T15
CBS—-416 16 100 45° CCMTO0602 M4—-10-5.7-60 T15
CBS-419 19 150 45° CCMTO09T3 M4-10-5.7-60 T15
CBS—425 25 150 45° CCMTO09T3 M4-10-5.7-60 T15
CBS-908 8 50 90° CCMTO0602 MZ2.5~-6.0—3.5—60 19
CBS—~910 10 60 90° CCMTO0602 M4-10-5.7-60 ™5
CBE8-913 13 70 90° CCMTO09T3 M4-10-5.7-60 T15
CBS-916 16 100 90° CCMTO09T3 M4-10-5.7-60 1156
CBS-919 19 150 90° CCMT0602 M4-10-5.7-60 115
CBS—-825 25 160 90° CCMTO09T3 M4-10-5.7-60 T15

4 i

S==
i\
N
- - |
BSB H A ZY#ER L i
AR AE TIR#ig it RF

Specification D L Angle Insert \ Clamp Screw Wrench
CBS908L 8 50 90° CCMTO0602 MZ2.5-6.0—-3.5-60 T9
CBS910L 10 60 90° CCMT0602 M2.5-6.0—-3.5-60 T9
CBS8913L 13 70 90° CCMTO09T3 M4-10-5.7-60 T15
CBS916L 16 100 90° CCMT0602 M4-10-5.7-60 T15
CBS919L 19 150 90° CCMTO09T3 M4-10-5.7-60 T15

O®|PAGE 93

Bl : .

______________________ |- [ ’

o )

-4 L1 e

- L & € U HHEE )T

il i I8N R~} Size
Specification No.of flutes D d L L1
SB1.7—12—120 11.7 16 120 30
SB12.7-13-120 12.7 16 120 30
SB13.7-14-120 13.7 16 120 30
SB14.7-15-120 14.17 16 130 30
SB15.7-16-135 2 15.7 16 135 70
SB16.7-17-135 2 16.7 16 1358 /70
SB17.7-18-135 2 144 16 135 70
SB18.7-19-160 2 104 16 160 90
SB19.7-20-160 2 19.7 20 160 90
SB21.7-22-160 2 20.7 20 160 90
SB23.7-24-180 2 Lol 20 180 100
SB24.7-25-190 i 24.T 25 190 110
SB25.7-26-200 2 25.7 25 200 120
SB26.7-27-200 2 26.7 25 200 120
SB27.7-28-200 2 Zla0 25 200 120
SB29.7-30-210 2 29.7 25 210 130
SB31.7-32-210 2 31.7 25 210 130
SB34.7-35-250 2 34.7 32 250 150
SB36.7-37-250 2 36.7 32 250 150
SB39.7-40-270 2 39.7 32 270 170
SB41.7-42-250 2 41.7 37 250 150
SB44.7-45-310 2 44 .7 32 310 210
SB46.7-47-260 2 46.7 32 260 160
SB49.7-50-260 2 49.7 42 260 160
SB49.7-50-310 2 49.7 42 310 210
SB51.7-52-260 2 517 42 260 160
SB54.7-55-330 2 54,17 42 330 230
SB59.7-60-260 2 59.7 42 260 160
SB59.7-60-350 2 59.7 42 350 250
Speﬁf;tion 1R Insert #2£] Clamp screw $F wrench

SB12-SB20 CCMT060204 M2.5%X6 T8
SB22-SB60 CCMT09T308 M4 x10 118

O®|PAGE 94




OO HRE

BORING TOOL SYSTEM i TJ]E

BORING TOOL SYSTEM F.ijnTJ]E

" L1 o
~ gL 817" 50° 3.2, L
b
Hig SR =K SPECIFICATIONS
e b e BT SRR FER~T
BT.NO ®D1 oD2 ®D3 L1 |2 L3 L4 L5 H1 H2 M
9 BT30 46 | 3175 | 125 | 484 | 20 2 [136] 8 [ 161 163 m12
— BT40 63 4445 | 17 65.4 25 2 166 | 10 | 16.1 | 226 | M16
t | ’ ’ | BT50 | 100 [ 6985 [ 25 | 1018 | 3 | 3 | 232 | 15 [ 257 | 354 [ M24
fé;. i — L
-.=|' ' =B - /J-\ i B"'IE” 507 |3-2| -
4 _ %
i -—'-j Hi—* @ 'y o5 : tf:
* e =y SK SRS R~
SK.NO OD1 oD2 ®D3 |1 L2 H1 H2 H3 M
ot I I ™
& ETCHEIE TR SK40 6355 | 44.45 17 | 684 | 185 | 161 | 228 25 | m16
SK50 97.5 6985 | 25 | 10175 | 30 | 257 355 | 377 | M24
RIS 718X R~ Size
Specification No.of flutes D d L1
GC49.7-50.22 2 49.7 99 50 m ) W (-
GC54.7-55-22 2 54.7 99 50 Wi Y -E@)~F - s ﬂ
GC59.7-60-22 2 59.7 22 50 K\;/7 silp=—Pg el & CAT SEmiE 2 R <t
f | | I L1 L
GC61.7-62-22 2 61.7 _ 22 50 _ s oot ) A AR
GC61.7-62-254 2 61.7 25.4 50
GC64.7-65-25.4 2 64 .7 25 .4 50 CAT.NO oD1 oD2 ®D3 L1 H1 H2 H3 M
DL T £ 69/ i a CAT40 635 | 4445 | 1628 | 6825 | 1628 | 226 | 2502 | 5/8"-11UNC
GC71.7-72-25.4 2 7.7 25.4 50 CAT50 9843 | 6985 26.38 1016 | 30531 | 3531 | 37.72 1"—8UNC
GC74.7-75-25.4 P 74.7 25.4 50 ' |
GC79.7-80-25.4 2 79.7 25.4 50
GC84.7-85-25.4 2 84.7 25.4 50
GC89.7-90-31.75 2 89.7 31.75 50
GC94.7-95-31.75 P 94.7 31.75 50
GC99.7-100-31.75 2 99.7 31.75 50 ..
ISO SEMRRRFE R ~T
ISO.NO D1 D2 D3 D4 H1 l H2 l H3
AU T Insert S020 6 9 22.225 33 8 12 45 3
nse - = = .
Specification %aai] Clamp scrow BT wiehch S025 7 10 25 .4 37 8 16 55.7
GC45~100 CCMT09T308 M4 x 10 T15 S030 9 13 31.75 50 15.9 24 71.8
CO®)|PAGE 95 (O®|PAGE 96




O HRE

BORING TOOL SYSTEM i TJ]E

OO HRE

BORING TOOL SYSTEM F.ijnTJ]E

Bt50 BT45

30° "1 |15.0

0

25.7+0.21
19.3+40.21

60°
60°

35.3,!.35.3,

SPECIFICATIONS
NC T EfsE

 Bt40

16.1+0.18

Bt30 - Bt35

16.1+0.18
0

14.1+0.1
0

60°

- Sk50 L Sk40

16.1+0.18

8510

25.7+0.21

O®)| PAGE 97

- HSK32E

HSK25E

- HSK63F

SPECIFICATIONS

HSK T E#af =

HSK100A

HSKS50A

HSK63E
3 2
_§HE. 110

HSKG63A

" HSK40A

9 I.[E ;7
g 17
$EE. 110,
" HSK50E HSK40E
@
SR 1410 8. 110

(O(»| PAGE 98




